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28. To find the answer to the above question, which of the given statements is not
necessary 7
(a) A 5B e) C dy D (e} Neone of these

29, In a certain code language, ‘nee muk pic’ means jgrave and concern”; il dic so’
means every body else’, and ‘fur muk so’ means Body and soul’. Which of the

following would mean ‘every concern’ ? (Bank P.0. 1995)
{a) die pic (b) ill nee (c) pic nee
{d) Can't be determined (e} None of these

80, In a certain code language, ‘Ka Bi Pu Ya' means You are very infelligent’; Ya
Lo Ko Wo' means ‘They seem very intelligent’, La Pu L&’ means You can see’
and ‘Sun Pun Yun Ya’' means How intelligent she is’. In that language, which
of the following words means ‘are’ ?
la) Ka (h) Bi e) Le (d) Pu (e} Ya

81. If in a certain code, Bir le nac’ means green and tasty" ‘pic nec hor’ means
‘tomato is green” and ‘coc bir hor’ means food is tasty’”. Which of the following
means ‘fomato is fasty’ in that code ?

{a) bir le hor (b) pic hor nac {¢) hor bir pic (d) None of these

32. In a eertain code language, kew xas huma deko’ means ‘she iz eating apples’,
‘kew fepo qua’ means ‘she sells ftoys' and ‘sul lim deke’ means T like apples’.
Which word in that language means ‘she’ and ‘apples” ?

(a) xas & deko (b) xas & kew (e} kew & deko
(d) kew & xas () deko & tepo

38. If ‘cinto baoli tsi nzro’ means ‘her villoge is Sarurpur’; ‘mhi cinto keepi isi oind’
means her first love is literature’ and ‘oind geif tsi cinto pki’ means Titerature
collection is her hobby', which word would mean Titerature’ ?

(a) cinto (b) baoli () oind d) geit

Questions 34 to 36 (Bank P.0. 1898)
lnnmmnmde'dhepumm'rmnmﬂu“ ‘sik hee' means ‘red flowers”

and ‘pee mit hee' means flowers are vegetables’

34. How is ‘red”’ written in that code ? '
{a) hee (b)Y gik (2} be (d) Cannot be determined (2) None of these

35. How is ‘roses’ written in that code 7
(@) il (b) pee (c) be (d) Cannot be determined {e) None of these

36. How is ‘vegefables are red flowers” written in this code 7

¢ (&) pew sik mit hes (b) sk pee hee be () il sik mit hee
.1 (d) Cannot be determined {e) None of these
ANSWERS

1.{c): In the second and third statements, the common code word is ‘sen’ and the common
word is But’. So, ‘sen” means hut”

2. (e) : In the firet and second statements, the common code words ‘nee’ and ‘see’ mean ‘are’
and ‘you' So, in the second statement, the remaining code ble’ means where’,

8. (b} : In the first and second statements, the common code word is mot” and the common
word is 5" So, ‘mot” means s’

In the second and third statements, the common code word is Ba/” and the common

Thus, in the second statement, ‘min’ means good".
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d. i) :

8. dal:

6. (a):

T.de):

8. id):

0. id):

10. (e} :

1L1. (a):

12. {a) :

18. ia) :

14. {d) :

Reasoning
In the first and second statements, the common code word is rps’ and the common
word is ‘morning’. So, 'rps’ means Forning .
In the first and third statementa, common code is ‘ski’ and the common word is ‘nice’
S0, ‘ski’ means ‘nice’.
Thus, in the first statement, %ri’ means ‘Sunday’.
In the first and second statements, the common code word is ‘nie’ and the common
word is ‘some’. S0, 'nie’ means ‘some’
In the first and third statements, the common code word iz ‘pie’ and the common
word is good”. So, pie’ means good’,
Thus, in the first statement, ‘bi’ means jokes'
In the first and second statements, the commeon code word is ‘nef” and the common
word is harmfil’ So, ‘nat’ stands for harmful’
In the second and third statements, the common code word is ‘dor’ and the commeon
word is ‘aroid’. So, 'dor’ stands for ‘avoid”.
Thus, in the second statement, ‘vog” means habir’
In the first and second statements, the common code word is gnr' and the common
word is Diympic. So, gnr’ means (Nympic'.
In the second and third statements, the common code is iyto’ and the common word
is ‘games’. So, fhyto’ means pames”
Thus, in the second statement, 'emf ' means ‘summer’,
In the first and third statements, the common code word is pery’ and the common
word ia fine. So, peru’ means fine'
In the second and third statements, the common code word is Tisa” and the cothmon
word is ‘clear’. So, Tisa' means ‘clear’
Thus, in the third statement, ‘dong’ means ‘Tweather’,
In the first and second statements, the common code word is ‘dan’ and the common
word is house” So, ‘dan’ stands for house’.
In the second and third statements, the common code word is i, So, ¥it' stands for s’
Thus, in the second statement, kon" stands for good'.
In the second and third statements, the sommon code words are Pe’, ‘Mink" and
‘May' and the common words are ‘are;, ‘not’ and ‘ripe’
8o, in the third statement, Wue' stands for ‘mangoes’.
In the first and second statements, the common eode word is ‘Kun' and the common
word is Dogs”. So, ‘Kun’ means Dogs’,
In the first and third statements, the common eode word is8 Tom' and the common
word is ‘wre’. So, Tom' means ‘are’.
Thus, in the first statement, ‘Sud’ means barking’
In the first and third statements, the common eode mr\d is fin' and the common
word is fruit’ So, fin' al.l.nd.u-fur'ﬁ"uﬂ
In the second and third statements, the common code word is ‘sig’ and the common
word is Tily" So, 'sig’ stands for Tily"
Thus, in the third statement, Ton’ means ‘and’.
In the first and second statements, the common code word is tingo’ and the common
word is flower’. So, tingo” stands for [Tower’.
In the second and third statements, the common code word is ‘mst’ and the common
word is ‘sweet” So, ‘mat’ stands for ‘zweet’.
Thus, in the second statement, rho” stands for frogrance' :
We can find the code for ‘food” from the first and second statements. Now, to find
the code for ‘fot’, we need the code for Bring” which cannot be determined from the

given information.
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16. (b) :

18. ic) :

17. &) :
1B. (b} :

18. (c) :
B0, () :

20 (b) :
22. (e} :

28. (e} :
24, {d) :

2B, (b} :
28. {a):

28, (a)

30, (b) :

In the first and second statements, the common code word is o’ and the cowmon
word is ‘down’. So, wro’ means 'down’.

In the second and third statements, the common code word is ‘bei” and the common
word is he'. So, bel’ means he'

Thus, in the second statement, 'mit’ means goes,

In the first and third statements, the common code word is ‘na’ and the common
word is ‘are’ So, ‘ma’ stands for ‘are’

In the second and third statements, the common code word is %ok’ and the common
word is bad” So, Tok" stands for boad’

Thus, n the third statement, tim’ standa for “they’

Since all the statements have been used to find the answer, so none of the given
statements can be dispensed with.

In statements B and C, thammnumduwmﬂu'r‘r'andthemmmunwordm
‘summer’. So, ‘ré’ means summer’

Clearly, both statementa A and D are superfluous.

In statements A and B, the common code word is 'na’ and the common word is
‘water’, So, ‘na’ means ‘water’

In statements B and [}, the common code word is o' and I.}wmm.m-un word is Tife’
8o, Yo" means Tife"

Thus, in statement B, Tod’ represents s"

Clearly, statement C is not necessary and hence can be dispensed with,

In statements A and B, the common code word is ‘2o’ and the common word is ‘good”.
S0, ‘zei’ stande for good’.

In statements A and D, the common code word is ‘das’ and the common word is
Jittle’. So, ‘das’ stands for Tittle’.

8o, in (A}, ‘mxy’ means frock”

Clearly, statement {C} is not required.
]nmmmﬂ[ﬁ}uﬂ[ﬂlmemmnmdumrdm‘pnd and the common word is
boy’. Bo, ‘pod’ stands for Boy'

In statements (A) and (D), the commen code word is joc’ and the common word i=
‘very”. So, Joo' stands for ‘very’

So, in (A), 'na” stands for ‘brighs’

Clearly, statement {C) iz not required and can be dispensed w:th

In the first and second statements, the common code words are " and 'ma’ and the
eommon words are ‘s’ and playing’ So, i’ and ‘ma’ are the codes for ‘is’ and playing”
In the second and fourth statements, the common code word is %op’ and the common
word is ‘tennis’ So, kop” stands for ‘tennis’

Thus, in the second statement, Ja’ stands for ‘Asha’.

: In statements (B} and (C), the common code word is Tim" and the common word is

kenowledge’. So, Tim" stands for Enowledge’

In statement (B} and (D)), the common code word is ‘Bis' and the common word is
‘reek’ So, Bie' dtanda for seek’

8o, in (B), ‘Nak' stands for ‘Always’

i Clearly, statement (A) is not required.
29. {d) :

Proceeding as in hbove questions, the code for ‘every’ in either I’ or ‘dic’ and the
code for ‘concern’ is either ‘nee’ or pic’

In the first and second statements, the common code words are ‘Ha® and Yo' and
the common words are ‘very’ and intelligent’. So, Ko’ and Ya' are the eodes for very'
end ‘intelligent’.
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In the first and third statements, the common code word is Pu’ and the common
word is You' So, Pu’ stands for You'
Thus, in the first statement, ‘Bi’ stands for ‘are’

31, i) : In the first and second statements, the common code word is ‘nae’ and the common
word is ‘green’. So, ‘nac’ stands for green’
In the second and third statements, the common code word is hor’ and the common
word is 14" Bo, %hor’ stands for s’
8o, in the second statement, ‘pic’ means tomato’. In the first and third statements,
the common code word is "hir' and the common word is fasty’. So, bir’ stands for
‘Tasty’

82. (c) : In the first and second statements, the common code word 18 kew’ and the common
word is ‘she’. S0, hew' stands for ‘she’
In the first and third statements, the common code word is ‘deko’ and the common
word is ‘apples’. So, ‘deko” stands for ‘apples’

83. (c) : In the first and second statements, the common code words are vinfo’ and ¥4’ and the
common words are fier’ and is’ So, vinto’ and ‘tsi° are the codes for her’ and s
In the second and third statements, the common code words are ‘cinte’, tsi” and ‘oind’
and the common words are her’, iz’ and Titernfure’
MNow, ‘cinto’ and ¥xi' are codes for ‘her' and 92" Bo, vind’ stands for Titerature’

34. (b) : In the second and third statements, the common code word is hee’ and the common
word is flowers’ So, hee’ stands for flowers’
Thus, in the second statement, ‘sik’ stands for red”.

35. (d) : Since from the given information, we can.only find the code for ‘are’ in the first
statement, it cannot be determined which of the remaining two codes for roses’

38. (a) : Clearly, the required code will consist of the same eodes as in the third statement
with the code for ‘red’ added to it.

TYPE 6 : MIXED NUMBER CODING

In this type of questions, a few groups of numbers each coding a certain short
message, are given. Through a comparison of the given coded messages, taking two
at a time, the candidate is required to find the number code for each word and then
formulate the code for the message given.

Ex. 1. In a certain code, 786" means ‘study very hard’, ‘958" means ‘hard wurhpay:’
and ‘645’ means Study and work’. Which of the following is the code for
‘very' 7 (8.B.LP.O. 1884)
{a) B (b) 8 {c) 7 {d) Can't be determined (e} None of these

Sol. In the first and second statements, the common word is "hard’ and the
common code digit is ‘8" So, ‘B’ means hard’.

In the first and third statements, the common word is 'sfudy’ and the common
code digit is ‘6. So, 6’ means study’
Thus, in the first statement, ‘7" means ‘very’. Hence, the answer iz (¢).

Ex. 2. If in a certain code language, ‘324’ means Light is bright, ‘629" means ‘Girl
is beautiful’ and ‘4758' means T prefer bright clothes’, which digit means
‘Light' in that language ?

{a) 3 (b 2 c) 4 _{dl 7 (e} 5
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Sol.

1.

EI‘

10.

In the first and second statements, the common word is ‘iz’ and the common
code digit is *2°. So, 2" means s’

In the first and third statements, the common word is Bright' and the
common code digit is ‘4", So, ‘4’ means ‘bright’.

Thus, in the first statement, ‘3’ means Tight". Hence, the answer is (a).

| EXERCISE 4H |
In a certain code, ‘37" means ‘which class’ and ‘583" means ‘caste and class’
What is the code for ‘caste’ 7 {Bank P.O. 1683)
(a) 3 )7 ic) 8 {d) Either 5 or 3 {e) Either 5 or 8

In a certain code language, 743’ means ‘mangoes are good’; ‘657 means ‘eat good
food" and ‘934" means ‘mangoes are ripe. Which digit means ‘ripe” ir. that
language ? (Hotel Management, 1992)
(a) 8 (b) 4 (e} 6 d) 7
In a certain code language, ‘134’ means good and tasty’; ‘478" means 'see good
pictures’ and ‘729" means ‘pictures are faint’. Which of the following digits stands
for 'see’ 7
(a) 9 (b) 2 e 1 (d) 8
In a certain code, ‘247" means ‘spread red carpet’, "256° means ‘dust one carpet’
and ‘234’ means ‘one red carpei”. Which digit in that code means ‘dust’ ?
{a) 2 (b 3 ic} 5 id) 6 {e) Can’t say
(R.B.L, 1980)
In a certain code language, ‘123’ means ‘brighs little boy', ‘145’ means ‘tall big
boy' and ‘637" means beautiful little flower. Which digit in that langusge means
bright’ ?
{a) 1 (b) 3 fcy 4 {dye {e) None of these
In a certain code, ‘256" means ‘you are good’; ‘637" means ‘we are bad’ and ‘358’
means ‘good and bad’. Which of the following represents ‘and’ in that cods ?
{a) 2 B) 5 (c) B {cd) 3
(Railways, 1994)
In a certain code, ‘467 means Jeaves are green’; ‘485" means ‘green is good” and
‘639" means ‘they are playing’. Which digit stands for Teaves’ in that code ¥
(m) 4 (b) 6 e 7 (d) 3 {e) None of these
(Bank P.O. 19981)
In a certain code language, ‘851" means Pood sweet fruit’, “783" means ‘Food red
rose” and ‘341' means ‘rose and fruit. Which of the following digits standsfor
‘sweet’ in that language 7 {B.b.R.B. 1998)
{a) B ib) 5 )1 id) 3 {e) None of these
In a certain code language, ‘479" means Yfruit is sweet', ‘248" means ‘very sweet
voice’ and ‘637" means ‘eal fruil daily’. Which digit stands for s’ in that code 7
(=) 7 (b 9 (c) 4 {d) Can't be determined {e) None of these
(B.S.RLB. 1095}
In a certain code language, ‘123" means ‘hot filtered coffee’; "356' means ‘very hot
day' and *689" means ‘day and night. Which digit stands for ‘very' 7
(@) 8 b5 (e) 8 (d) 2 e) 8
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11. In a certain code, ‘256" means red colour chalk’, ‘589" means green colour flower”
and ‘245" means ‘white colour chalk’. Which digit in that code means ‘hite” ?
(a) 2 b 4 c) & id) Can't be determined {e) Mone of these
(Bank P.O. 1891)
12. In a certain code language, 526" means ‘sky is blue’; ‘24’ means blue colour’ and
‘496" means ‘colour is fun’. Which digit in that language means fun’ 7
(a) 5 b) 4 c) 3 d) 2 (e) None of these
13. In a certain cede language, “381' means Hari is honest’, “162° means ‘Shashi is
intelligent’ and ‘948" means ‘Hari should go'. Which digit in that language means
honest’ T
(a) 3 by 8 c) 1 (d) 9 {e) None of these
14. In a certain code, ‘253" means hooks are old’, ‘646" means ‘man is old’ and 378
means ‘buy good books’ What stande for ‘are’ in that code 7 (B.B.LP.O. 1850)
{a) 2 by 4 (e} 5 (d) 8 (e} 9
15. In a certain code, 975 means Throw away garbage’ '528' means ‘Give away
smoking’ and *213" means ‘Smoking is harmful’. Which digit in that code means
‘Give' 7
(a) & (b) 2 (c) 8 id) 3 (e} None of these
Directions (Questions 16-17) 1
In a ecertain code, ‘289" means ‘read from paper’, ‘276" means ‘tea from field” and
‘Bf" means ‘wall paper’,
16. Which of the following is the code for ‘tea’ 7

la) 2 (b) 6 {c) Either 2 or 6
{d) Either 2 or 7 {e) Either 7 or 8
17. Which of the following iz the code for ‘paper’ ?
© o la) 2 (b) 8 )9
() Can't be determined (e} None of these

Directions (Questions 18-19) :
(A) "134" means ‘you are well’,
(B) “T58" means ‘they go home"

(C) "839" means ‘we are home" (Bank P.0. 1894)
18. Which of the following represents ‘they’ in that code language ?
(a) & b 7 {c) 3 (d) 8 (e} Data inadequate
19. Which of the statements can be dispensed with while answering the above
guestion 7
{a} A only (b) B only {c) A or C only
(d) B and C only e} None of these

20. In a certain code language, ‘617" means ‘sweet and hoi’; ‘735’ means ‘coffes is
sweet’ and 263" means Pea is hot’. Which of the following would mean ‘coffee is
hot" ?

{a) T31 (b} 536 () 367 {d) 763 ie) None of these

21. In a certain code language, Ba, 2b, 7c’ means Truth is Eiernal®, ‘Tc, 9a, 8b, 3a’
means ‘Enmity is not Eternal’ and ‘9, 4d, 2b, 8b" means “Truth does not perigh’,
Which of the following means ‘enmity’ in that language 7 (B.B.LP.O. 1981)
() 3a b Te ic) 8b {d) Ba (g} None of these
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1. {e):

2. la):

& i{d):

4, {eh:

5. le) :

6. (c) :

7. (c):

8 (b):

9. (b :

10. (e} :

ANSWERS

In the given statements, the common code digit is “3' and the common word is ‘class’
S0, ‘3" means ‘class’

Thus, in the second statement, either 5 or 8 stands for ‘vaste’

In the first and third statements, the common code digits are ‘4’ and ‘3" and the
common words are ‘mangoes’ and ‘are’

S0, ‘4" and *3' are the codes for ‘mangoes’ and ‘are’

Thus, in the third statement, ‘D’ means Fipe’

In the firat and second statements, the common code digit is ‘4" and the common
word is ‘good”. Se, ‘4" stands for jpood’.

In the second and third statementas, the common code digit i=s ‘T and the common
waord is ‘picfures’. So, *T" means ‘pictiures’

Thus, in the second statement, ‘8’ means ‘see’

In the first and second statements, the common code digit is ‘2" and the common
word is carpet’. So, ‘2" means ‘corpet’.

In the second and third statements, the common code digit is "6’ and the common
waord is ‘one’. So, '6° means ‘one’,

Therefore, in the second statement, ‘5’ means ‘dust’

In the first and second statements, the common code digit is ‘1" and the common
word is ‘bay’ Bo, 'l' means ‘hoy'

In the first and third statements, the common code digit is ‘3’ and the common word
ig ‘little’. So, '3’ meana Tittle"

Thus, in the first statement, “2' means “bright’

In the first and third statements, the common code digit is ‘5’ and the common word
ia good’. So, 'S’ means good’.

In the second and third statements, the common code digit is ‘Y’ and the common
word is ‘bad’. So, ‘3’ means ‘had’.

Thus, in the third statement, ‘8’ means ‘and”

In the first and second statements, the common code digit is ‘4’ and the common
word is ‘green’. So, ‘4’ means green’.

In the first and third statements, the common code digit is ‘6' and the common word
is ‘are’ So, ‘6 means ‘are’

Thus, in the first statement, ‘7" means Teapes’

In the first and second statements, the common eode digit is ‘8" and the common
word is good', So, ‘F means jgood’

In the first and third statements, the common code digit is ‘1’ and the common word
i8 fruit’. So, ‘1' means Truit®

Thus, in the first statement, ‘5’ means ‘sweet’

In the first and second statements, the common code digit is ‘4’ and the common
word is ‘sweet’ So, ‘4’ means ‘sweet’

In the first and third statements, the commen code digit is ‘7' and the common word
is ‘fruit’. So, ‘T means ‘fruit’

Thus, in the first statement, ‘9" means 3"

In the first and second statements, the common code digit is ‘3" and the common
word is ‘hot’. So, ‘Y means hot’

In the second and third statements, the common code digit is ‘5’ and the common
word is ‘day’. So, ‘5’ means ‘day’,

Thus, in the second statement, ‘6’ means ‘very’



11. (b} :

12. () :

13. (a) :

14. (a) :

16. (e} :

Reasoning
In the second and third statements, the common code digit is ‘6" and the commaon
word iz ‘colour’ So, ‘6" means ‘rofour’,
In the first and third statements, 5" means ‘colour’. The other common code digit is
‘2" and the common word is ‘chalk’ So, ‘2" means chalk’
Thus, in the third statement, ‘4’ means ‘white’
In the first and third statements, the common code digit is 6’ and the commeon word
is s S0, ‘6’ means Ts"
In the second and third statements, the common code digit is ‘4’ and the commeon
word ig ‘colour’ So, ‘4" means ‘rolour’.
Thus, in the third statement, ‘3’ means fun"
In the first and second statements, the common code digit is '1" and the common
word is ‘s’ So, ‘1’ means ‘is".
In the first and third statements, the common eode digit is '8 and the common word
is Hart’ So, '8 stands for Hari’
Thus, inltha first statement, ‘3’ means %honest’
In the first and second statements, the common code digit is 'S and the common
word is ‘old’. So, ‘5" means ‘old’
In the first and third statements, the common code digit is ‘3’ and the common word
is ‘hooks’ So, ‘3" means ‘books’
Thus, in the first statement, “2" means ‘are’
In the first and second statements, the common code digit is "5 and the common
word is ‘away’. So, ‘5 means ‘mway’
In the secomd and third statements, the common code digit is “2' and the common
word is smoking’. So, ‘2" means ‘smoking’
Thus, in the second statement, ‘B means Give'

Questions 18-17

18, () :
17. (b) :

In the first and second statements, the common code digit is ‘2" and the common
word is from® So, *2’ is the code for from’

In the first and third statements, the common code digit is ‘8 and the common word
is ‘paper’. Bo, ‘8" is the code for jpaper’

Clearly, in the second statement, either ‘7' or 6’ may be the code for tea’

As shown above, ‘B’ i8 the code for ‘paper’

Questions 18-19

18 (¢} :
19, (a) :
20. (b) :

21. (o) :

We can find the code for ‘home’ from the second and third statements.

For finding the code for ‘they’, we need the code for ‘g’ which cannot be determined
from the given data.

Data inadegquate

Clearly, statement A is not necessary.

In the first and third statements, the common code digit is '8’ and the common word
is hot' So, ‘6" means hot’

In the second and third statements, the common code digit is ‘3 and the common
word is ‘s’ So, ‘3’ means s’ .

In the first and second stalements, the common code digit is “T" and the commen
word is ‘sweet’.

8o, in the second statement, ‘5" means ‘coffes’

Clearly, ‘636" would mean ‘coffee is hat"

In the second and third statements, the common code is 9’ and the common word
is ‘not’. So, Yo’ means ‘not’,

In the first and second statements, the common codes are '7¢’ and ‘3a’ and the
common words are §s’ and ‘Eternal’

S0, in the second statement, ‘Sb' means ety
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TYPE 7 : DECIPHERING INDIVIDUAL LETTER CODES BY ANALYSIS

In this type of questions, certain sample words are given along with their codes.
The candidate is required to decipher individual codes for. different letters by comparing,
taking two words at a time, and then answer the given'guestions accordingly,

. Example : Below, in column I, are given some words. These have been
translated into a code language. The code equivalents of the words in column
I given in column IT are not necessarily opposite to the corresponding words.
Moreover, the codes for the different letters in each word have also not been
given in the same order as these letiers occur in the original word. Study
the two columns carefully and then of the four alternatives given in each
guestion, find the one that has the code equivalents of the letters of the word

given in the guestion. This is your answer. (Hotel Management, 1906)
Column I Column II
DELIBERATION asmrgs
CONSIDERATE ceehlmo
GHOSTLIKE efhmogqrx
WORLDLY cdgmqrsxz
KNOWLEDGE adefmopqgsz
ROCEET cefkmopggszz

1. SOLACE

{a) aedpgr (b) acemoq (c) acdmpq (d) demopg
2, ENIGHT

{a) fgrsxz (b) gprsxz {e) fhmpqgr (d) ghrxyz
3. WORDY

(a) fhlmeg (b} ehlmo {¢) efhlm (d) adeap
4. NOTICE ;

(a} acdegs ib) afmgsz (c) efhpgs (d) ighpgr
6. BLOAT

(a) lkpgz (b)Y hmpygz (c) empqs (d) ckmps

Bolution : We first find the exact codes of the given words.

DELIBERATION is a twelve-letter word. Se, its code is cefkmopggszz.
CONSBIDERATE is an eleven-letter word. So, its code is adefmopggss.

GHOSTLIKE and KNOWLEDGE are nine-letter words and the codes are cfhmoqqrx and

cdgmgraxz. KNOWLEDGE has two E's and so its eode will also contain two identical letters.
Thus, ita code is cthmoggrx.

8o, the code for GHOSTLIKE is cdgmqrsxe.

WORLDLY is a seven-letter word. So, ita code is ceehlmo.
ROCKET is a six-letter word. So, its code is asmrgs’
Rearranging the words and their codes, we have :

DELIBERATION | cefkmopogazs
 CONSIDERATE adefmopegygaz

GHOSTLIKE cdgmqraxz

WORLDLY ccehlmo

KNOWLEDGE efhmonqrx '

ROCEET

asmrgs
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The commeon letter in the given words is O and the common code letter is m. So, m
stands for O, :

In WORLDLY and ROCKET, the common code letter m stands for 0. The other commen
code Jetter e stands for R. .

In GHOSTLIKE and WORLDLY, the other common code letter ¢ stands for L.

In DELIBERATION and WORLDLY, the common code letters, ¢, ¢ and m stand for L, B
and O respectively. The other common code letter o stands for DL

In WORLDLY and ENOWLEDGE, the common code letters, m, ¢ and o stand for O, L
and ) respectively. So, the other common code letter h stands for 'W.

In KNOWLEDGE, there are two E's and the letter g ocoura twice in the code. So, g standa
for E.

In ENOWLEDGE and ROCKET, the common code letters m and q stand for O and E
respectively. So, the other common code r stands for K.

In GHOSTLIKE and ROCKET, the common code letters, m, r and q stand for O, K and
E respectively. 86, the other common code letter s stands for T.

In ROCKET, the remaining code letter a standa for C.

In GHOSTLIKE and KNOWLEDGE, the common code letters m, ¢, r and g stand for O,
L, K and E respectively. So, the other common code letter x stands for G.

In KNOWLEDGE, the remaining code letter f stands for N.

In DELIBERATION and GHOSTLIKE, the common code letters q, ¢, 8 and m stand for
E. L. T and O respectively. So, the common code letter z stands for L.

In CONSIDERATE and GHOSTLIKE, the common code letters m, %, q and s stand for
0, I, E and T respectively. So, the common code letter d stands for 8,

In GHOSTLIKE, the remaining code letter g stands for H.

In CONSIDERATE, the remaining code letter p stands for A.
In DELIBERATION, the remaining code letter k stands for B.
The information can ba summarised as below

[Code[m_elcnh 1 lq|ris|aix|f!lzidlg|/p]k
chtter[GRLI}WYEKTCGN:IJSHﬁB
1.(c}: The code for Sis d, for O is m, for L is ¢, for A is p, for C is a and for E is q.
So, the code for SOLACE is dmepag or acdmpy.
2. {a): The code for Kis r, for N is f, for [ is 2, for G ie x, for H is g and for T is 5.
So, the code for KNIGHT is rizxgs or fgrexz.
3. (b} : The code for W ish, for Oism, for R is e, for D is o and for Y is L
So, the code for WORDY}s hmeol or ehlmo.
4. (b} : The code for N is f, for O is m, for T is s, for | is 2, for C is a and for E i5 q.
S0, the code for NOTICE is fmszaq or afmgez.
&{dl:'I'h;emdsfn-rBiuk,waisc,waiam,furﬁi-pandfaniul.
8o, the code for BLOAT is kemps or chmps.

| EXERCISE 4i |

Directions (Questions I to 10) : According o a code language, words in
‘capital letters in column I are written in small letters in column II. The
letters in column Il are jumbled up. Decode the language and choose the
correct code for the word given in each guestion.

Column Colamn II
(1) CURS - (A) opkif
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17. 8 o)k b p el v (d} None of these
18. T fa)a ) b ic) e (d) None of these
Directions (Questions 19 to 25) : Below in column I are given some words
“and in column IT are given their equivalents in some code language. Words
in column Il do not appear in the same order as in column I. Moreover, the
order of letters is also jumbled. Decode the language and choose the correct
alternative which is the equivalent of the given word.

: Column 1 Column IT
(1) TAFE (A) moij
(2) COUP (B) Thhpok
(3) TIE (C) nls
(4) ROTATE (D) nhpk
(5) SBAY (E) nkpl
(6) TREAT (F) msr
(T) YEAR (G) khlph
(8) SIP {H) hrp
(9) TYRE (1) pmlh
19. SOUF
{a) osmj (b) sojm {c) osjm () somj {e) joms
20. REACT
(a) Thpik (b} lihpr (e) pkjih (d) jkiph () kplih
21. TRACE
{a) hiklp (b} hlkip () hklip () piklh le) pklih
22. POSSESS
{e) msoopoo (b} mosspss {c) porrprr (d} mpiioi {e) mpjjojj
23. CREATE
{(a} ljhkhn (b} jknlhn ic) jlphip (d) ikplhp (e} ilpkhp
24. EABY :
(o) Inps (b) lpns {e) pisn () pnls (e) snpl
25. CURE
{a) ijkp (b) pikj {c) ikpj () kipj (e) jikp

Directions (Questions 26 fto 35) : In column I, some words are given. In
column I, their codes are given but they are not arranged in the same order
in which they are in column I. Study the letters in both columns and find
out the code to the letter given in each of the following questions.

{AAD. Exam, 1988}

Column I Column Il Column I Column 11
(1) BID (A) norw (8) ROSE (H) iotx
(2) BAT (B) emps 9) VEX (I) aceenoww
{3) BAD (C) lwz (10) WAYE (d) elu
i4) CHEAP (D) aejmng (11) NAMELY (K) befms
{6) HILL (E) kms (12) FAMILIAR (L) moty
{6) PORK {F)} emrux (13) HAZY (M) elz
(7) QUOTE (G} ehqr {14) VAGUE {N) dimiu
% t
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{2y INCUR
{3) TALLY
{4) CADET
(5} DRIP
(6} TOIL
(7) VARY

DAIRY

{(a} evohr

. TODAY

{a) rjuyh
PIECE
(a) fruyr
CIVIL

" (@) gfwee

I

=

10.

SUSTAIN
{a} hibucpi
TRIED
(a) ukfhr
RACE

{a) kovp
ENVOY
{a) kbjwu
RIVET
(a) wekou
SUN

(a) pih

(b) gkvbf
(b) kjuvh
(b) flctek
(b) gheww
(b) hkerjbk
{b) ubove
() kbef
(b} jvbkw
(b) ckwin

(b) bih

(B) fbpoe

(C) ughvg
(D) rkufh

(E) rote

(F) juge

(G) vwoh
(c) rctvo
(e) rjuvh
() fhocv
(c) ggwic

() hwajfvw

' (c) ukhbp

{e) khfo
{e) hjbvw
(&) wekov

() pib

211

(d) whtou
(d) rjuvk
(d) frgkp
(d) gwife
(d) hgpukge
(d) ukore
(d) krbh

(d) vbpuk

" (d) kevow

(d) ikh

Directions (Questions 11 to 18) : In column [ below, some words are given.

In column II, their codes are given buf they are nol arranged in the same
order in which they are in column 1. Study' the letters in both the columns
and find out the code to the letter given in each of the following questions,

from among the given alternatives.

lgl
13.

14.

15.
lﬂ‘

Column I
(1) SOUND

(2) ADDRESS

(3) CRUX
(4) NET
(5) CRONY

{6) CROWDY
. A fa)b

tal j
(@) k
(a) a
(a) i

(a) o

HOoOZ00

&1
Bk
B 1
b) e
(b j
B p

e} v
e 1

{c) m
{c) q
c) k
el v

{A) abi
(B) gmv
(C) ikmop
(D} ijktv
(E) jkgotv

(F) blooppv

(AAQ, Exam, 1088)
Column H :

{d)} None of these
{d} None of these
{d) Mone of these
{d} Mone of these
{d) Mone of these
{d) None of these
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26. B (a) ] (Bl u cle id) z
27. C la)e by 2 {c)u {d) p
2. D (a)e ib) z el u id) k
20. F {a)r b f e) w (d) ¢
30. G (o)a B e ch b (e j
31. H {a)t brr i) 1 (d) s
32. A (a)r by t {c) s (d) e
33. K falh ib)j () i d) k
4. M (a)b by a le) ¢ id)d
35. fadh by g e} f (d) i

Directions (Questions 36 to 40) : According to a code language, words in
column I are given in column II. Decode the language and choose the correct
code for each of the words given in the following gquestions. The létters in
column Il need not appear in the same order as they do in columa I.

Column I Column I1 { olumn 1 Column I1
(1) CHIEF (A} kngwy {9) BASED (I} gstnd
(2) NIGHT (B) akwjh (10) PSYCO (]} qutzh
{3) THIRD (C) kvhwg (11) TOWEL (K) nzche
{4) MONEY (D) njumz (12) FALSE (L) ynest
5) WOMAN (E) zgims (13) DOWRY (M) evpus
(6) WORKS (F) ctvzo (14) STOCK (N) toghz
(T) BASIC (G} dtwsqg (15) TRAIN (D) swhyj
(8) HENRY (H) jvunk )
38.- AUGUST
{a} hhatdb (b) llstah (c) altpss (d) nstddz
37. BOARD
(@) wtvge ib) ctdzg . fc) sdwaqz (d) gadvs
38. JUNIOR
(a) jlwevf (b) clogwj (c) flogvz id) ljfzeo
39. DIGEST
{a) kwghqv (b) angwht fc). aknthj (d) gongwt
40. DEAF e
(a) tgnz (b} knty (c) ygns (d) wgsd

Directions {Questions 41 to 45) : In each of the following Gaestions, a
word has been written in four different code languages. One of the code
languages is common to all the five guestions. The code equivalent of the.
word in that code language is your answer in each gquestion.

) (Hotel Management, 1997)

41. CLUSTER

{a) YHPQDXE (4) BKTUSDQ (c) BITSVEQ (d) XFINOQP
42, LIGHT

{ay IVWJD (6) KHIGS {c) CIMKN (dy KJHGS
43, TRIVIAL !

(a) SQHXHCK {b) DEVCVZH (c) VOHXHAI id) BQJUJBK
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44. NUMBER

(a) ZIAWQP {b) MTOADG ic) GPTMXE {d) MVNAFQ
45. BRAVE

{a) AQBUF (b) WRYJQ ic) DOAXE (d) MEZCX

ANSWERS

Questions 1 to 10
In CURSE and VARY, the common code letter is 0 and the common letter is B
% Be, o stands for R.
I CADET and VARY. the common code letter is h and the common latier is A
So, h atands for A

In TALLY and VARY, the common code letter h means A. The other common mdn letter
ia v and the other common letter is Y. So, v standa for Y.

Thus, in VARY, the remaining code letter w stands for V.

In CADET and TOIL, the common code letter is m and the common lethr ir T.

Sn, u stands for T.

In INCUR and TOIL, the common code letter is ¢ and the common letter is L

S0, e standa for L.

In TALLA and TOIL, the common code letter u stands for T- The other common code
lefer iz g and the other common letter is L. So, g stands for L.

Thus, in TOIL, the remaining code letter j stands for 0.

In CADET and DRIP, the common code letter is r and the common letter is I

S0, r stands for I,

In DRIP, o stands for R, e stands for L. So, the remaining code letter t stands for P.

In INCUR, CURSE and CADET, the common code letter is f and the common letter is
C. So, f stands for C.

In INCUR and CURSE, the common code letters £ and o mean C and R respectively.
S0, the remaining code letter p stands for UL
Thus, in INGUR, the remaining code letter b stands for N.

In CURSE and CADET, the common code letter f means C. So, the other common code
letter k means E.

Thub, in CURSE, the remaining code letter i means 8.
The information can be summarised as below :

(Code [o [b [ v [wluleclg ._J_...._L_.__t fip|b |k j.i
[.aetlfr.R'ﬁ ‘I'.V Tepel | L D|P|CIU|[N|EI| S
1. fa} : ThcmdefacrDwr.fwhwh.fw[unfmﬁmouﬂfw‘finv
5o, code for DAIRY ia rheov.
2. ic) ~'The code for T is w, for O is j, for D is r, for A is h and for Y is v.
S0, the code for TODAY is ujrhv.
H.(b): The code for Pis i, for | is e, for E is k and for C is L.
S0, the code for PIECE is tekfk or fktek.
d.{a): The code for Cis £ for [ is e, for V iz w and for L is g.
Bo, the code for CIVIL is feweg or giwee
B.(a): The cods for S ia i, for U ia p, for T ia w, for A is h, for [ is ¢ and for N is b.
5o, the code for SUSTAIN is ipiuhch or hibucpi.
8. {d} : The code for T is u, for R is o, for I is o, for E is k and for D is r.
5o, the code for TRIED is uockr or ukore,

“
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7.0c): The code for Ris o, for Aish, for C is f and for E is k.

So, the eode for RACE is ohfk or khfo.
8, (k) : The code for E js k, for N is b, for V is w, for O is j and for Y is w.

So, the code for ENVOY is kbwjv or jvbiw.
9. {a): The code for Ris o, for I is e, for V is w, for E is k and for T is w

Sa, the code for RIVET is cewku or wekou,
10. ic} : The code for S is i, for U is p and for N is b.

Sa, the code for BUN is ipb or pib.
Questions 11 to 18

Clearly, the only three letter word is NET. So, its code is abi. The only four letter

is CRUX. So, its code is cimv. The two five letter words are SOUND and CRONY and
are ikmop, and ijktv. Clearly, CRONY has two common letters C and R with CRUX and
letters j and v in the code for CRUX are common with the code ijktv. So, the code for
is ijktv and that for SOUND is ikmop. The only six letter word is CROWDY. S, its
jkgotv. The only seven letter word is ADDRESS. 8o, its code is blooppv. So, rearranging
words and their codes, we have :

%§§%§i

NET abi
CRUX cjmv
CRONY ijktv
SOUND ikmop
CROWDY jkgotv
ADDRESS blooppv

In NET and CRONY, the common code letter is i and the common letter iz N.

So, i stands for N.

In NET and ADDRESS, the common code letter is b and the common letter is E.
8o, b stands for E. Thus, in NET, the remaining code letter a stands for T.

In CRUX and ADDRESS, the common code letter is v and the commontletter is R.
8Ba, v stands for R

In CRUX and CRONY, the common code letter v stands for B. So, the other common
code letter j stands for C.

In CRUX and SOUND, the common code letter is m and the commeon letter is UT
%0, m stands for L.
Thus, in CRUX, the remaining code letter ¢ stands for X.

In CRONY and SOUND, the common code letter i stands for N. S0, the other common
ecode letter k stands for O,

Thus, in CRONY, the remaining code letter t stands for Y.

In SOUND and CROWDY, the common code letter k means 0. So, the other common
ende letter o stands for DL

Thus, in S0UND, the remaining code letter p atands for 8.
In CROWDY, the remaining code letter g stands for 'W.
In ADDRESS, the remaining code letter | stands for Ao
Thus, the information can be summarised as follows :
'Code i b a v i m [ k t
Letter | N E T R | C U X (8] Y D
11. (b) : Clearly, the code letter for A is L
12. (a} : Clearly, the code letter for C is j.

13. id} : The code letter for D is o and none among the choices.
14. (d) : The eode letter for N is i and none among the choices,

-]

£ m
tn
-
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18. (2} : Tha code letter for O is k.
18. (c) : The code letter for R is w.
17. (b) : The code letter for 8 is p.
18. (a) ; The code letter for T is a.

Questions 19 to 25

The only seven letter word is ROTATE. So, its code is Ihhpok.

The: only five letter word is TREAT. So, its code is khiph.

The four words are TAPE, COUP, YEAR and TYRE and the codes are moij, nhpk,
ekpl and pmih. COUP has one leitter O common with ROTATE. Bo, its code is moij which
has only one code letter ‘o’ common with that of ROTATE.

TAPE has one letter P common with COUP. 8o, its code is pmlh which has one code
latter ‘m’ commeon with that of COUP. YEAR and TYRE have the codes nhpk and nkpl, the
mmmdnh_mun,kmﬂpﬂmdingfur"f.Ede.meTREhT,thaletmTappun
twice and in its code the letter b appears twice. So, b ia for T. Thus, the code for TYRE ia
nhpkmdthltfurmwﬂlbenm.

The three letter words are TIE, SAY, SIP and the three letter codes afe nls, msr, hrp.
The code W is for T. So, TIE is coded as hrp. SIP has [ common with TIE. So, its code will
be msr. Thus, the code for BAY is nls.

Rearranging the words and their codes, we have :

BAY
SIP
TIE
YEAR
TYRE
- TAPE
COup
TREAT khlp
ROTATE — Ihhpok

In SAY and SIP, the common code letter is 8 and the common letter is 5.

S0, s stands for 8.

In SAY and TYRE, the common code letter is m and the common letter is Y.

So, n stands for Y. Thus, in SAY, the remaining code letter 1 stands for A

In BIP and TIE, the common code letter is r and the common letter is L

So, r stands for L Thus, in SIP, the remaining code letter m stands fot P.

In TIE and YEAR, the commoh code letter is p and the common letter is E.

8o, p stands for E. Thus, in T[E!"the remaining code letter h stands for T.

In YEAR and TYRE, the comimon 'code latters n and p stand for Y and E.

So, the remaining common code letter k stands for B

In COUP and ROTATE, the common code letter o stands for O.

Thus, in COUP, the remaining code letters i and j stand for C and 1.

Thus, the information can be summarised as follows :

| Code | s n ] r | m | p | h k | o i
-

Letter | S Y |[A I P B | T R 0 C
lﬂ-ﬂli:Thumdafw&h:,ﬁrﬂi:n,&rﬂil‘]_priludfnr?ilnﬂut in the question,
i is nowhere mentioned. 5o, code for U ig j. Thus, the code for BOUP is sojm.
20. (¢} : The code for Ris k, for Efa p, for Aia L, for C is i and for T is h. So, the code for

REACT is kplih.

iRgdic

|:|'ll_
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21. (e} : The eode for Tis h, for Ris k, for A is 1, for C is i and for E is p. So, the code for
TRACE iz hklip.

28_(b): ThamdaforPium,forﬂiun,l’orﬂia:anﬂfh:Einp Bo, the code for POSSESS
is mosspas.

23. (d) : The code for C iz i, for R is k, for E is p, for A 15 | and for T is h. So, t]umdaﬁnr

« CREATE is ikplhp.

24, ie): ThmdaforEmp.furAial,&rSuunndfnrYun.So.thtmdnfbrE.!.H‘f!.uplm_

25. (a) : The code for C iz i, for U is j, for R i= k and for E is p. So, the sode for CURE is ijkp.

Questions 26 to 35

The only eight letter word is FAMILIAR. So, it code is aceenoww.

The only six letter word is NAMELY. Bo, its code is asjmng. :

The five letter words are CHEAF, QUOTE and VAGUE and the codes are emrux, befms,
afmtu. A is common to FAMILIAR, CHEAP and VAGUE. So, the comymon code letter e stands
for A and thus CHEAF and VAGUE have codes emrux and befms. So, the code for QUOTE
is afmtu. VAGUE has two common letters with QUOTE. So, its code is befms. Thus, the
code for/CHEAP is emrux.

The four letter words are HILL, PORK, ROSE, WAVE, HAZY and the codes are nnrw,
emps, ehqr, iotx, and moty. Only HILL has a letter repeated twice. So, ita code is nnrw, Only
WAVE has three letters common with VAGUE. So, its code is emps. The code for A is e. So,
the code containing e and a code letter common with HILL is the code for HAZY. Thus, code
for HAZY is ehqr. Now the code having common letter with that of WAVE is the code for
ROSE. So, the code for ROSE is moty. Thus, the code for PORK is iotx.

Tha three letter words are BID, BAT, BAD and VEX and the codes are lwz, kms, alu and
elz. VEX has two letters common with WAVE. Bo, its code is kkms. BAT has o letter T common
with QUOTE. So, ita code is elu. BAD has two letters common with BAT. So, its code is elz.
So, the code for BID is lwz.

Rearranging the words and their codes, we have :

BID lwz

BAD alz

BAT elu

VEX kms E
PORK iotx

ROSE moty

HAZY ehgr s
WAVE " emps, 3

HILL « ARIW
CHEAP amrux
VAGUE befms
QUOTE dfmtu
NAMELY aejmng
FAMILIAR ACEETOWW !

In BID, BAD and BAT, the common code letter is | and the common letter is B,

So, | stands for B. In BID and BAT, the other common code letter = stande for D.

S0, the remaining code letter w in BID stands for T and e in BAD stands for A

In WAVE and ROSE, the common code letter is m and the common letter is E.

S0, m stands for E. In VEX and WAVE, the other common code letter s stands for V.
Thus, in VEX, the remaining code letter k stands for X.

In WAVE, the remaining eode letter p stands for W. -

In PORK and QUOTE, mammmhmrutudﬂwmmm letter ia O. Bo, t
stands for O. i
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In PORK and ROSE, the other common code letier o stands for R

In PORK and CHEAP, the common code letter is x and the common letter iz P, So, x
stands for P.

Thus, in PORK, the remaining code letter i stands for K.

In ROSE, the remaining code letter y stande for 8.

In HAZY and NAMELY, the other common code letter g stands for Y.

In HAZY and HILL, the common code letter is ¢ and the comman letter is H. So, r stands
for H. !

Thus, in HAZY, the remaining code letter h stands for Z.

In HILL, the code repeated twice is m and letter is L. So, n stands for L.

In CHEAP, the remaining code letter u stands for C.

In VAGUE and QUOTE, the common code letter m means E.

So, the remaining code letter f stands for UL

Thus, in VAGUE, the remaining code letter b means G.

In QUOTE, the remaining code letter d stands for Q.

In NAMELY and FAMILIAR, the common code latter @ and n stand for A and L respec-
tively. S0, the remaining common code letter a stands for M. Thus, in NAMELY, the remaining
code letter j stands for N. In FAMILIAR, the remaining code letter o stands for F.

The information can be summarised as below :

Code 1 I w [ m [} k P t o x i
Letter B D | A E v X W 0 R P K
Code ¥ q r h n u f b d a j e
Letter -] Y H Z L C U G Q M N F

28. (a) : The code for B is L

27. (¢) : The code for C is w

28. (&) : The code for D is o

28. (d) : The code for F is c.

B0, (c) : The code for G is b.

B81. (k) : The code for H is r.

ﬂ.[&]: The code for A is &.

83. (¢) : The code for K is i

34. (b) : The code for M is a.

85. (z) : The code for Z is h.

Questions 36 to 40
In CHIEF and PSYCO, the common code letter is q and the common letter is C.
8o, q stands for C.
In CHIEF and MONEY, the common code letter n stands for E.
In CHIEF and HENRY, the common code letter n stands for E.
S0, the other common code letter k stands for H.
In CHIEF and BASIC, the common code letter q stands for C.
8o, the other common code letter w stands for L.
Thus, in CHIEF, the remaining code letter v stands for F.
In NIGHT and MONEY, the common code latter j stands for N.
In NIGHT and TOWEL, the common code letter h stands for T.
Thus, in NIGHT, the remaining code letter a stands for G. ;
In THIRD and BASED, the common code letter g stands for D,
Thus, in THIRD, the remaining code letter v stands for R.
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" In MONEY and WORKS, the common code letter 2 stands for O,
In MONEY and PSYCO, the common code letter  stands for O,

B0, the other common eode letter u stands for Y. In MONEY and WOMAN, the common
code letter 2 stands for O and j stands for N. So, the remaining code letter m stands for M.
In WORKS and TOWEL, the common ende letter 2 stands for O.

80, the remaining common code letter ¢ stands for W.

In WORKS and BASIC, the common code letter iz t and the common_letter is 8.

S0, t stands for 8, Thus, in WORKS, the remaining code letter o stands for K.

In BASIC and FALSE, the common code letter ¢ stands for 8.

So, the other common code letter 8 stands for A |
In BASIC and BASED, the common code letters s and t stand foi A and 8 respectively.

S0, the remaining code letter d stands fm' B. In PSYCO, the remaining code letter b
stands for P.

The information can be summarized as follows : -

hS

| Code |q|n |k|w|y!j|h|a|g|lv|]z|u{mice|t|o!las
|MmﬂEHIFN:T;GDRGTMWSK5ﬂB

38, (b): The code for A is s, for G is a, for Sis ¢t and for T is h.
So, the code contains the letlers, sath which are contained in llstah only.
37.(d) : The code for B is d, for O is 2, for Ais s, for R is v and for D is g.
50, BOARD is coded as dzavg or grdvs.
38. (a) : The code for U as in Q. 36 is I, for N is j, for [ i3 w, for O is 2 and for R is v.
5o, the code for JUNIOR contains ljwzv.
39. (b} : The code for D is g, for I is w, for G is &, for E is n, for 8 is t and for T is h.
So, the code for DIGEST is gwanth or angwht.
40. (2) : The code for D is g, for E i3 n, for A is 5 and for F isa .
5o, the code for DEAF is gnsy or vgns,
Questions 41 to 45
This is a special type of problem. In such type of questions, the code letters in the code
equivalent of the word are in the same sequence as the letters in the word.
41.{a): Clearly, the letters E and R are common to CLUSTER, NUMBER and BRAVE,

According to the alternatives in Q. 41, the codes for E and R eould be X and E or
Dand § or E and O or @ and P.

According to the alternatives in Q. 44, the codes for E and R eould be @ and P or
Da.nﬂQuann:lEorF‘andQ

According to the alternatives in Q. 45, the codes for E and R could be-F and Q or
Qand R or E and O or X and E.

The codes common to all the three possibilities above are X and E.
Since only {a) contains these codes, a0 {a) is the right code equivalent for CLUSTER.
Thus, code for C is Y, furLGH for Uis P, for 8 is Q, for T is D and s0 on.
42.(a): The code for L is H and only (a) contains H at the first place.
43. (b) : The code for T is D and only {b) contains D at the first place.

44. (c] : The codes for E and R are X and E respectively and only (¢} contains X and E at
the last two places.

45. (d) : The codes for R and E are E and X respectively and only (d) contains E and X at
the corresponding places i.e., the second and fifth places.

B

L= BN




5. BLOOD RELATIONS

In these tests, the success of a candidate depends upon the knowledge of the

blood relations, fome of which are summarized below to help solve these tests.

Mother's or father's son
Mother's or father's daughter
Mother’s or father's brother
Mother's or father's sister
Mother's or father's father
Mother's or father's mother
Son's veife

Daughter's husbhand

Husband's or wife's sister
Husband's or wife's brother
Brother's son

Brother' daughter

Uncle or aunt's son or daughter
Sister's husbhand

Brother's wife

Grandson’s or Grand daughter's daughter

Brother

Hister

Uncle

Aunt
JGrandfather
Grandmother
Daughter-in-Law
Son-in-Law
Sister-in-Law
Brother-in-Law
Nephew

Niece

Cousin
Brother-in-Law
Sister-in-Law
Great grand daughter

In this type of questions, a round-about deseription is given in the form of certain
small relationships and direct relationship between the persons concerned is to be

TYPE 1: DECIPHERING JUMBLED UP DESCRIPTIONS

deciphered.

Ex. 1. Pointing to a photograph, a man said, “I have no brother or sister but that

EI. 2.

man’s father is my father's son.” Whose photograph was it ?

{a) His own
(d) His nephew's

photograph is his son.
Hence, the answer is (b).

Anil introduces Rohit as the son of the only brother of his father's wife. How

iz Rohit related to Anil ?

(a) Cousin . {b) Son (e} Unecle

The relations may be analysed as follows
Fathei's wife — Mother; Mother's brother — Uncle; Uncle’s son — Cousin,

- (b} His son's
{e) None of these

(d) Son-in-law

{c) His father's

{Hotel Management, 1996)
Since the narrator has no brother, his father's son is he himself. So, the man
who is l;nlkmg is the father of the man in the photograph or the man in the

So, Rohit is Anil's cousin. Hence, the answer is (a),

220

(e} Brother
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Ex. 3. Pointing towards a person in a photograph, Anjali said, “He is the only son

of the father of my sister's brother.,” How is that person related to Anjali 7
{a) Mother (b} Father () Maternal uncle
(d) Cousin {e) None of these (Bank P.O. 1994)
The relations may be analysed as follows ;

Bister's brother — Brother; Brother's father — Father; Father's son — Brother,
So, the person in the photograph is Anjali's brother.

Hence, the answer is (el

Ex. 4. Pointing out to a photograph, a man tells his friend, “She is the daughter of

Ex.

the only son of my father's wife." How is the girl in the photograph related
to the man ? .

{z) Daughter (B) Cousin () Mother (d) Sister (2) Niece
The relations may be analysed as follows :

Father's wife — Mother; Mother’s only son — Himself.

So, the girl is man's daughter.

Henee, the anawer is (a).

6. Xintroduces Y saying, “He is the husband of the grand daughter of the father
of my father.” How is Y related to X 7

{a) Brother (b) Son  (c) Brother-in-law  (d) Nephew (e} Son-in-law
The relations may be analysed as follows :

Father's father — Grandfather; Grandfather's Grand daughter — Sister;
Sister's husband — Brother-in-law,

S0, ¥ is X's brother-in-law.

Hence. the answer is (c).

Ex. 6. Pointing out to a lady, Rajan said, *She iz the daughter aftha waoman who

1.

is the mother of the husband of my mother.” Who is the lady to Rajan 7
(a) Aunt (b) Grand daughter (c) Daughter (d) Sister (e) Sister-in-law
The relations may be analysed as follows :

Mother's husband — Father; Father's mother — Grandmother; Grandmother’s
daughter — Father's sister; Father's sister — Aunt.

S0, the lady is Rajan's aunt.

Hence, the answer is (a).

| EXERCISE 5A |
Pmn.tmg to a man on the stage, Rita said, "He is the brother of the daughter
of the wife of my husband.” How is the man on the stage related to Rita 7
{a) Sen {b) Husband {c) Cousin  (d) Nephew (e} Brother-in-law

Showing the man receiving the prize, Saroj said, “He is the brother of my uncle's
daughter.” Who is the man to Saroj ?

{a) Son (B) Brother-in-law (e} NeRhew (d) Uncle () Cousin

Pointing to a man, a woman said, “His mother is the only daughter of my
mother." How is the woman related to the man'? (Bank P.0. 1098)

Ef} Mother (b) Daughter (c) Sister (d) Grandmother (2) None of these
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4. Poiuting to a photograph, a person tells his friend, “She is the grand daughter
of the elder brother of my father.” How is the girl in the photograph related to
his fnan ? i
{a) Niece (b} Sister (c) Aunt {d) Sister-in-law () Maternal aunt
B. Pointing to a photograph, Vipul said, *She is the daughter of my grandfather's
only son.” How is Vipul related to the girl in the photograph 7 (B.8.R.B. 1997)
{a) Father (b)Y Brother (c) Cousin (d) Data inadequate (e} None of these
8. A woman introduces a man as the son of the brother of her mother. How is the
mamn, related to the woman ?
{ayNephew (b) Son (¢) Cousin {(d) Uncle (e} Grandson
7. Looking at a portrait of a man, Harsh said, “His mother is the wife of my
father's son. Brothers and sisters I have none.” At whose portrait was Harsh
looking ? . (M.BA. 1998)
{a} His son (b) His cousin (¢) His uncle (d) His nephew (¢) None of these
8. A man said to a lady, “Your mm:hu"a husband's sister is my aunt.” How is the
lady related to the man ?
(a) Daughter (b) Grand daughter (c) Mulhm' (d) Sister (e} Aant
3. If Neena says, “Anita’s father Raman is the only son of my father-in-law
Mahipal”, then how is Bindu, who is the sister of Anita, related to Mahipal ?
{a) Niece (b) Daughter (c) Wife (d) Daughter-in-law (e) None of these
(Bank P.0O. 1668)
10. Pointing to a girl in the photograph, Amar said, “Her mother's brother is the
only son of my mother's father.” How iz the girl's mother related to Amar 7
(a) Mother  (b) Sister (¢) Aunt  (d) Grandmother  (e) None of these
{(Railways, 1984)
11. ‘A girl introduced a boy as the son of the dau;hter of the father of her uncle.
The hoy is girl's
(a) Brother (b) Son (¢) Uncle  (d) Son-in-law (e} Nephew
12, If X is the brother of the son of Y's son, how is X related to Y 7 3
{a) Son * {b) Brother {¢) Cousin {d) Grandson (e} Uncle
13. Pointing to a gentleman, Deepak said, “His only brother is the father of
my daughter's father.” How is the gentleman related to Deepak ?
{a) Grandfather (b) Father (c) Brother-in-law (d) Uncle () None of these
{Bank P.0O. 1887)

14. Intreducing a man to her husband, a woman said, “his brother’s father is the
only son of my grandfather.” How iz the woman related to his man ?

(a) Mother  (b) Aunt (c) Bister . (d) Daughter (¢} Grandmother
15. Pointing out to a lady, a girl said, “She is the daughter-in-law of the grandmother
of my father's only son." How iz the lady related to the girl 7
(a) Sister-in-law  (b) Mother (c) Aunt (d) Motherdin-law () Cousin
18. Rita told Mani, “The girl I met yesterday at the beach was the youngest daughter

of the brother-in-law of my friend’s mother.” How is the girl related to Rita's
friend 7

(a) Cousin  (b) Daughter  (¢) Niece (d) Friend  (e) Aunt
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17.
1B.

18.

21

If Kamal says, “Ravi's mother is the only daughter of my mother”, how is Kamal

related to Rawi ? (8.B.LP.0. 1884)
{a) Grandfather (b} Father ¢} Brother
(e} Cannot be determined (e) None of these

Rahul told Anand, “Yesterday | defeated the only brother of the daughter of my

grandmother.” Whom did Rahul defeat 7

(a) Son (b)) Father ic} Brother {d) Father-in-law (e} Cousin

When Anuj saw Manish, he recalled, “He is the son of the father of my daughter.”

Who is Manish 7

{a) Brother-in-law (k) Brother (c) Cousin  (d) Uncle (#) Nephew

Pointing to a photograph, a lady tells Pramod, *1 am the only daughter of this

lady and her son is your maternal uncle.” How is the speaker related to Pramod's

father ? (Hotel Management, 1995)

{a) Sister-in-law (b)) Wife (c) Either {(a) or (b) (d) Meither {a) nor (5)

Introducing a man, a woman said, “He is the only son of my mother's mother.”

How is the woman related to the man ?

{a) Mother (b) Aunt {e) Sister (d)} Niece (e} None of these

Pointing te a man in a photograph, Asha said, *His mother’s only davghter is

my mother.” How is Asha related to that man ?

{a) Nephew (k) Sister (¢} Wife {d) Niece (g} Grand daughter

Pointing to a photograph, 8 woman says, “This man's son’s sister is my mother-

in-law.” How is the woman's husband related to the man in the photograph ?

{a) Grandson (B Son (e} Son-in-law  (d) Néephew (g) None of these
(M.B.A. 18994)

. Introducing a man, a woman said, “His wife iz the only daughter of my father.”

How is that man related to the woman 7
{a) Brother (B} Father-in-law {c) Maternal uncle
{d) Hushand (e} None of these

. Deepak said to Nitin, “That boy playing with the football iz the younger of the

two brothers of the daughter of my father’s wife.” How ia the boy playving foothall
related to Deepak 7

{a) Son (b} Brother (c) Cousin {d) Nephew &) Brother-in-law
Pointing to the lady on the platform, M '1.|1 s_ﬁh};“ﬂh& is the sister of the father
of my mother's son.” Who is the lady toe Manju 7

(a} Mother  (b) Sister {c) Aunt (dy Niece {e} None of these

Arun said, “This girl is the wife of the grandson of my mother.” Whe is Arun
to the girl 7

{a} Father ih) Grandfather {¢) Hushand
{d) Father-in-law (e} None of these

Pointing to 8 man in a photograph, a woman said, “Hizs brother’s father is the
only son of my grandfather.” How is the woman related to the man in the
photograph 7 {B.5.R.B. 1996)
{z) Mother {b) Aunt (¢} Sister {d) Daughter e} Grandmother
Pointing to a person, a man said to a weman, "His mother is the only daughter
of your father.,” How was the woman related to the person 7

{a) Aunt (b} Mother () Wife {d) Daughter {e} None of these
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30.

31.

Reasoning

A man pointing to a photograph says, “The lady in the photograph is my nephew's
maternal grandmother,” How is the lady in the photograph related to the man’s
sister who has no other sister 7 {Hotel Management, 1987)
{a) Cousin (b} Sister-in-law ic) Mother (d) Mother-in-law
Pointing to a lady, a man said, “The son of her only brother is the brother of
my wife.” How is the lady related to the man 7

(o) Mother's sister (b} Grandmother () Mother-in-law
(d) Sister of father-in-law {e) Maternal aunt '

Pointing to an old man, Kailash said, “His son is my son’s uncle.” How is the
old man related to Kailash ? ;

in) Brother  (b) Uncle  (c) Father (d) Grandfather (e} None of these

ANSWERS

1. (a) : Wife of hushand — Herself; Brother of daughter — Son.

S0, the man is Rita's son.

Z:i¢) : Brother of uncle’s daughter — Uncle's son — Cousin.

" S0, the man is Seema’s cousin.

3. {a) - Oddly daughter of my mother — Myself.

So, the woman is man’s mother.

4. {n): Brother of father — Uncle; Uncle's grand daughter — daughter of uncle's son —

danghter of cousin — niece.

5. (b) : My grandfather's only son — My father.

So, the girl is the daughter of Vipul's father ie, Vipul is the girl's brother.

8. (c) : Brother of mother — Unele; Unele's son — Cousin.
7.{a): Since Harzh has no brother or sister, 50 he is his father's only son.

Now, wife of my father's son — my wife.
So, Harsh's wife is the man's mother or the man is Harsh's son.

8. (d) : Your mother's hushand — Your father; Your father's sister — Your aunt.

So, lady's aunt is man's aunt and therefore lady is man's sister.

B. {e) : Only son of Neena's father-in-law Mahipal — Neena's hushand.

S0, Raman is Neena's hushand and Anita and Bindu are his daughters.
Thus, Bindu is the grand daughter of Mahipal.

E0. i) : Only son of Amar's mother's father — Amar's maternal uncle.

S0, the girl's maternal uncle is Amar's maternal uncle. Thus, the girl's mother is
Amar's aunt.

11. (a} : Daughter of uncle’s father — Uncle’s sister — Mother; Mother's son — Brother.
12 (d) : Son of Y's Son — Grandson; Brother of ¥'s grandson — Y's grandsen.
13. (d} : Father of Deepak's daughter’s father — Deepak's father.

So, the man’s brother is Deepak’s father or the man is the brother of Deepak’s father
ie., Deepak's uncle,

14. ic} : Only son of her grandfather — Her father; man's brother’s father ~ man's father,

So, man's father is her father ie., She is the man's sister.

15. () : My father's only son — My brother; Grandmother of my brother — My grandmother;

Daughier-in-law of my grandmother — My mother.
So, the lady is girl's mother.

16. (@) :° Daughter of brother-in-law — Niecé; Mother's niece — Cousin.

Bo, the girl is the cousin of Rita's friend.
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17. (e} : Only daughter of Kamal's mother — Kamal's sister.

So, Ravi's mother iz Kamal's sister or Kamal is the brother of Ravi's mother ie.,
Ravi's maternal uncle.

18. (b) : Daughter of grandmother — Aunt: Aunt's only brother — Father.

19. iz} : Anuj's daughter's mother — Anuj's wife ; Anuj's wife's father — Anuj's father-in-law;
Father-in-law's son — Anuj's brother-in-law.

Sa, Manish ia Anuj's brother-in-law,

20. (k) : Clearly, the speaker's brother is Pramod's maternal uncle. So, the apeaker is Pramod's
mother or his father's wife.

21. (d} : My mother's mother — My grandmother: My grandmother’s only son — My maternal
uncle.

So, the woman is man's niece.

22, (d) : Asha’s mother's mother ie man's mother ie., Asha's mother is man's sister or Asha
is man's niece,

23. (a) : Man's son’s sister — Man's daughter.

So, the man's daughter is the mother of the woman's husband. Thus, the woman's
hushand is the grandson of the man in the photograph.

24. id) : Only daughter of my father — Myself. So, the man is woman's husband.

25. () : Father's wife — Mother; Mother's daughter — Sister; Sister’s vounger brother — My
younger brother. So, the boy is Deepak's brother.

28. (c) : Manju's mother's son = Manju's brother; Manju's brother’s father — Manju's father;
Father's sister — Manju's aunt.

27. (d) ;: Mother's grandson — Son; Son’s wife — Daughter-in-law.

28. (c) : Only son of woman's grandfather — Woman's father; Man's brother's father — Man's
father. So, the woman is man's sister.

20, (2) : Daughter of your father — Your sisler,

8o, the person's mother is woman's sister or the woman is person’s aunt.

B0. (e) : Clearly, the lady is the grandmother of man's sister's son f.e, the mother of the
mother of man's sister's son i.e., the mother of man's sister.
o, the lady is man's mother,

31. (d) : Brother of my wife — My brother-in-law; Son of lady’s brother is the brother-in-law
of the man. So lady's brother is man’s father-in-law ie, the lady is the sister of
man's father-in-law.

32. i(r) : Kailash's son’s uncle — Kailash's brother. So, the old man's son is Kailash's brother
i.e., the old man is Kailash's father.

TYPE 2 : RELATION PUZZLE

In this type, mutual bleod relations or other informations of more than two persons
are mentioned and information about any two is mentioned.
Ex. 1. A and B are brothers. C and D are sisters. A's son is D's brother. How is B
related to C 7 ! (M.E.A. 1998)
(@) Father (&) Brother (c) Grandfather (d) Uncle (e) None of these
Sol. Clearly, B is the brother of A; A's son is ['s brother. This means D is the
daughter of A. Since C and D are sisters, C is also the daughter of A.
So, B is the uncle of C.
Hence, the answer is (d).
Ex. 2. Given that
1. A is the mother of B;
2. C is the son of A;
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Ex. &.

Reasoning
3. D is the brother of E;
4. E is the daughter of B.
The grandmother of D is (B.C.RA. 1984)
(a) A (k) B el C {d) D el E

D is the brother of E and E is the daughter of B. This means that D is the
son of B.

Also, A is the mother of B.
So, A iz the grandmother of 1.
Hence, the answer is {(a),

A and B are married couple. X and Y are brothers. X is the brother of A
How is Y related to B 7

{a) Brother-in-Law {b) Brother {¢) Son-in-Law
(d) Cousin {e) None of these

A and B are husband and wife. Since X and Y are brothers, and X is the
brother of A, Y iz also the brother of A, Thus, Y is the brother-in-law of B.

Hence, the answer is (a).

Read the following information carefully and answer the guestions given
below :

There are six children playing football namely A, B, C, D, E and F. A and
E are brothers. F is the sister of E. C is the only son of A's uncle. B and D
are the daughters of the brother of C's father.

1. How is C related to F 7

{(a) Cousin (b) Brother (e} Sen (d} Uncle (e} None of these
2. How many male players are there ? :

ia) One {b) Three {c) Five () Six (e) Four

3. How many female players are there ?
{a) Twao (b) Three {c) Five {d) One (e} Four
4. How is D related to A 7
{a) Uncle {b) Sister e} Niece (d) Cousin  (e) None of these
Solution :

1. F is E'= and henee A's sister. S0, C is also the som of F's uncle and is, therefore, F'a
cousin. So, the answer is (a), T

2. As given, A and E are hrothers, Hence hoth are males. F is the sister of E and hence
female. C is the son and hence male. B and D are daughters and hence female. Thus,
there are three males. So, the answer is (b).

Ll o

Clearly, from the solution of 2, we find that there are three fernales. So, the answer ia (b),
Clearly, I[¥a father ia the brother of C's father and C's father is A's uncle. So, D'a father

is alao A's uncle. Thus, D is A's cousin. Hence, the anawer ia (d).

| EXERCISE 58 |

1. A party consists of grandmother, father, mother, four sons and their wives and one
son and two daughters to each of the sons. How many females are there is all ?
la) 14 (b} 18 (e) 18 {d) 24 (e} None of these
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2.

Tl

B!‘

10.

11.

12

Lakshmi and Meena are Rohan's wives. Shalini is Meena's st.ap-duughtar How
is Lakshmi related to Shalini ?
{a} Sister {b) Mother-in-Law i) Mother
{d) Step-mother {2) None of these
-Blaya has a brother Anil. Daya is the son of Chandra. Bimal is Chandra's father,
In terms of relationship, what is Anil of Bimal ? (C.B.L 1994)
(@) Son  (b) Grandson (¢) Brother  (d) Grandfather
Rahul's mother is the only daughter of Monika's father. How is Monika's husband
related to Rahul 7 (Bank P.0. 1094)
{a) Unele (h) Father (e) Grandfather
id) Brother (e) Data inadequate
If (i} M is brother of N; (if) B is brother of N; and (iii) M is brother of D, then
which of the following statements is definitely true ? (B.S.R.B. 1995)
{a) N iz brother of B {6) N is brother of D (c) M is brother of B
iy D is brother of M {e) None of these
Deepak is brother of Ravi. Rekha is sister of Atul. Ravi is son of Hekha. How
is Deepak related to Rekha 7 {C.B.L 1897}
(@) Son {h) Brother (c) Nephew {d) Father
A is B's sister. C is B's mother. D is Cs father. E is I's mother. Then, how is
A related to D 7 (Assistant Grade, 1996)
{a) Grandmother (&) Grandfather (¢} Daughter id) Grand daughter
Given that : 1. A is brother of B.
2. C is father of A.
3. D iz brother of E.
4. E is daughter of B.
Then, unele of I is (8.C.R.A. 1993)
) A by B (e} C d) E
Q is the brother of R; P is the sister of @; T is the brother of 5, 8 is the daughter
of B. Who are the cousins of @ ?
{a) R and P (b) Pand T () Qand T
dl S and T {e) None of these
E iz the son of A. D is the son of B. E is married to C. C is B's daughter. How
is D related to E ?
{a) Brother (b) Uncle {c) Father-in-Law
{d) Brother-in-Law (e} None of these
A is father of C and D is son of B. E is brother of A. If C is sister of D, how
is B related to E 7 {Assistant Grade, 1897)
{a) Daughter {b) Brother-in-Law (¢} Husband {d) Sister-in-Law
Q's mother is sister of P and daughter of M. S is daughter of P and sister of
T. How is M related to T 7 {Bank P.0. 1885)
{a) Grandmother (b) Father (c) Grandfather

{d} Grandfather or Grandmother {e) None of these
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Directions (Questions 13 to 15) : Read the following information and answer
the questions given below :

A is the son of B. C, B's sister has a son D and a daughter E. F is the maternal
uncle of D.

13. How is A related to D 7

(a) Cousin ib) Nephew (e} Uncle () Brother
14. How is E related to F 7

{a) Sister (b} Daughter (c) Niece (d) Wife
15. How many nephews does F have ?

() Wil {b) One (c) Two {d) Three

Directions (Questions 16-17) : Read the following information and answer
the questions given below it : (8.8.C. 1993)

A is the father of C. But C is not his son.

E is the daughter of C. F is the spouse of A.

B is the brother of C. D is the son of B.

G is the spouse of B. H is the father of G.
16. Who is the grandmother of D ?

(a) A By C {c) F {d) H
17. Who is the son of F 7 "
ia) B ik C ) D {d) E
18. C is A's father’s nephew, D is A's cousin but not the brother of C. How iz D
related to C 7
(a) Father (b) Sister (e} Mother {d) Aunt

19. P is the son of  while § and R are the sisters to one ancther. T is the mother
of R. If 8 is the son of T, which of the following statements is correct 7
{a) T is the brother of Q. (b} S is the cousin of P.
{e) Q and 8 are sisters. {d) 8§ is the maternal uncle of P.
(@) R is the grandfather of P.

20. A is the brother of B. B is the brother of C. D is the father of A. Based on these
three statements, which of the following statements cannot be definitely true ?

{a) B is the brother of A. (b) B is the son of D.
(c) A is the brother of C. - {d) C is the brother of A.
e} A, B and C are D's children. (B.5.R.B. 1997)

21. A is father of X ; B is mother of Y. The sister of X and Z iz Y. Which of the
following statements is definitely not true 7

la) B is the mother of Z. (b)) X is the sister of Z. {c) Y is the son of AS '
) B has one daughter. () B is the wife of A.
22. Rajan is the brother of Sachin and Manick is the father of Rajan. Jagat is the
brother of Priya and Priya is the daughter of Sachin. Who iz the uncle of Jagat ?
{a) Rajan ih) Sachin () Manick (d) None of these
(Transmission Executives' 1994)

23. Neelam, who is Deepak's daughter, says to Deepika, “Your mother Rekha is the
younger sister of my father who is the third child of Ramlal.” How iz Ramlal
related to Deepika ?

(a) Uncle (b) Father (c) Grandfather  (d) Father-in-Law
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24. P is the brother of @ and R. 5 is R's mother. T is P's father. Which of the
following statements cannot be definitely true ?

(a) T is Q's father. (b) 8 is P's mother. (¢) P iz 8's son.
(d) T iz S's husband. {e) Q iz T'= son.

25. P isthe brother of D. X is the sister of P. A is the brother of F. F is the daughter
of D. M iz the father of X. Who is the uncle of A 7
ia) X b} P e} F (d) M

28. K is the brother of N and X. Y is the mother of N and Z is the father of K.
Which of the following statements is not definitely true 7
(a) K is the son of Z. (b)Y is the wife of Z. ic) K is the son of Y.
(d) K is the father of X. (e} N is the brother of X.

27. A woman walking with a boy meets another woman and on being asked about
her relationship with the boy, she says, “My maternal uncle and his maternal
uncle's maternal uncle are brothers.” How is the boy related to the woman ?
{a) Nephew (b)) Brother<in-Law  (c) Son (d) Grandson (e} Husband
Directions (Questions 28 to 3I) : Read the information given below and

answer the questions that follow : (B.B.R.B. 1988)

(i} In a family of six persons A, B, C, D, E and F, there are two married couples.
{ii) D iz grandmother of A and mother of B.
{iif} C is wife of B and mother of F.
{ir) F is the grand daughter of E,
28, WhatisCito A ?

{a) Daughter (b) Grandmother + (¢} Mother
{d} Cannot be determined {e) None of these
28. How many male members are there in the family 7
{a) Two {B) Three {c) Four
{d} Cannot be determined {e} None of these
30, Which of the following is true ?
{a) A is brother of F. (&) A is sister of F. {c) D has two grandsons.

id) B has two daughters. (¢) None of these.
31. Whoe among the following is one of the couples 7

{a) CD (b) DE (c) EB

{d) Cannot be determined (e} None of these

Directions (Questions 32 to 37) : Study the following information carefully
and answer the gquestions given below it :

All the six members of a family A, B, C, D, E and F are travelling together. B
is the son of C but C is not the mother of B. A and C are a married couple. E is
the brother of C. D is the daughter of A. F is the brother of B,

32. How many male members are there in the family ?

(a) 1 by 2 ic) 3 id) 4
33. Who is the mother of B 7 .
{a) D b) ¥ ) E d) A

34. How many children does A have 7
{a) One (h) Two {c} Three (d) Four
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36. Who is the wife of E ?

la) A by F ic) B (d) Can't be determined
36. Which of the following is a pair of females 7
{a) AE (b) BD e} DF (d) AD
37. How is E related to D ?
(a) Father  {b) Brother (e} Uncle {d) Can't be determined
Directions (Questions 38 to 42) : Read the information given below and
answer the questions that follow : {Bank P.0. 1995)

I. A.B,C, D, E and F are six members of a family.
Il. One couple has parents and their children in the family.
ITI. A is the son of C and E is the danghter of A.
IV. D is the daughter of F who is the mother of E.
38. Who are the male members in the family ?

{a) A and C by C and F ) A, Band D
{d) Cannot be determined (e) None of these
39. Which of the following pairs is the parents of the children 7
(a) BC {b) CF () BF
{d} Cannot be determined (e} None of these
40. Which of the following pairs is the parents of the couple ?
la) AB ib) BC (c) AF (d) CF {e) None of these
41. How many female members are there in the family ?
{a) Two (b} Three (e) Four
(d) Can't be determined i) None of these
42, What relationship do D and E bear to each other 7
(a) Sister and Brother () Mother and Son ]
{c} Grandmother and Grand daughter (d) Sister {e} None of these

43. A, B,C, D, E, F and G are members of a family consisting of four adults and
three children, two of whom, F and G are girls. A and D are brothers and A is

a doctor. E is an engineer married to one of the brothers and has two children.

B'is married to D and G is their child. Who is C 7 (L.AS. 1998)

{a) A's sen {b) E's daughter (e} F's father id} G's brother

Directions (Questions 44 to 48) : Read the following information carefully
and answer the guestions given below it ;

In a family, there are six members A, B, C, D, E and F. A and B are a married
couple, A being the male member. D is the only son of C, who is the brother of A.
E is the sister of D. B is the daughter-in-law of F, whose husband has died.

44, How is F related to A 7 '

ta)} Mother ik} Sister-in-Law (c) Sister
id} Mother-in-Law e} None of these
45. How is E related to C 7
{a) Sister (h) Daughter {c) Cousin (d) Aunt (e) Mother
46, WhoisCtaB?
ta) Brother T {(b) Brother-in-Law_ (c} Nephew -

() Son-in-Law {e) None of these
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47. How many male members are there in the family ?
{a) One {b) Twao {c) Three {d) Four e} Five
48. How is F related to C 7
{(a) Mother-in-Law (b) Sister-in-Law (¢c) Mother  (d) Aunt (e} Sister
49, Shobha is the niece of Ashish, Ashish’s mother is Priva. Kamla is Priya's mother.
Kamla's husband is Hari. Krishna is the mother-in-law of Hari. How is Shobha
related to Hari 7 {Assistant Grade, 1996)
{a) Daughter (b} Great granddaughter (e} Grandniece
(d) Great grandson's daughter
Directions (Questions 50 to 54) : Study the following information carefully
and answer the questions given below if : {Railways, 1998)
There are six persons A, B, C, D, E and F. C is the sister of F. B is the brother
of E's husband. D is the father of A and grandfather of F. There are two fathers,
three brothers and a mother in the group.

50. Who is the mother ?

fa) A &) B ey D id) E
61. Who is E's husband ?
(a) B (b) C ch A (d) F
652. How many male members are there in the group 7
{a} One (b) Two (c) Three id) Four
53. How is F related to E 7
{a) Uncle {b) Husband (c) Son id) Daughter
B54. Which of the following is a group of brothers 7
{a) ABF (b) ABD i) BFC id) BDF

Directions (Questions 55 to 60) : Read the following information carefully
and answer the questions given below it :

A family consists of six members P, @, R, X, ¥ and Z. @ is the son of R but R
ia not mother of Q. P and R are a married couple. Y is the brother of R. X is the
daughter of P. Z iz the brother of P.

B65. Who is the brother-in-law of R 7

{a) P by Z cr Y d) X
B568. Who is the father of @ 7

a) R by P ey Z (d) None of these
57. How many children does P have 7

" {a) One (b} Two (¢} Three id) Four

58. How many female members are there in the family ?

(a) One (b} Two (¢} Three (d) Four
69. How is Q related to X 7

{a) Husband {b) Father (¢} Brother () Uncle
80. Which is a pair of brothers ?

{a) P and X (b) P and Z ic) @ and X id) R and Y

Directions (Questions 61 o 65) : Study the information given below and
answer the questions that follow :

There is a family of six persons A, B, C, D, E.and F. They are Lawyer, Doctor,
Teacher, Salesman, Engineer and Accountant, There are two married couples in the
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family. D, the Salesman is married to the Lady Teacher. The Doctor is married to
the Lawyer. F, the Accountant is the son of B and brother of E. C, the Lawyer is
the daughter-in-law of A. E is the unmarried Engineer. A is the grandmother of F.
81. How iz E related to F 7

(a) Brother (b) Sister (¢} Cousin
(d) Cannot be determined (e) None of these

82. What is the profession of B 7
{a) Teacher {b) Doctor (c) Lawyer
{d) Cannot be determined {e) None of these

63. What is the profession of A 7
(a) Lawyer (b) Teacher (c) Doctor
(d) Cannot be determined {e) None of these

64. Which of the following is one of the couples ?
{(a) F and D (b Dand B (c) E and A
id) A and C {e) None of these

65. How is D related to F 7
(a) Grandfather (b) Father (¢) Uncle
{d) Brother {e) None of these

Directions (Questions 66 to 70) : Read the following information carefully
and answer the guestions below :

A family consists of six members P, @, R, 8, T and U. There are two married
couples. @ is a doctor and the father of T. U is grandfather of R and is a contractor.
S is grandmother of T and is a housewife. There is one doctor, one contractor, one
nurse, one housewife and two students in the family.

#6. Who is the husband of P ?

la) R by U ic) @ ) 8 e} T
87, Who is the sister of T ?
(@) R i u e T
{d) Information insufficient {e) None of these
68. What is the profession of P 7
{a) Doctor {b} Nurse {c) Doctor or Nurse
{d} Housewife {e) None of these

2

Which of the following are two married couples ?
e US, QT (M US, QP (o) TS, RU id) US, RP  (g) None of these
70. Which of the following is definitely a group of male members ? ;

{a) QU (b) QUT () QUP (d) UT (e) None of these
Directions (Questions 71 to 73) : Read the following information carefully
and answer the questions that follow : (8.B.LP.O. 1895)

In a village of Bastar district in Madhya Pradesh, only two types of people live
who belong to a tribal class. The first type is known as class A, while the other is
known as class B. In that village, there is po other type of person except these two.
The activities of both types of people are governed by perfectly patterned norms of
M:::l blfhmrinur. Each person of the tribe has to obey the norms. They are rigid
about this.
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71.

T2.

As far as marriage is concerned, the following norms are to be followed

{A) The people of class A cannot marry any other member of their own class,
though they can marry members of class B.

(B} After being married, each male member ceases to be 8 member of that class
in which he was born but automatically, he becomes the member of the
other class to which his wife belongs.

(C) As far as females are concerned, they remain the members of their own
class after being marned.

(D) On his birth, the child automatically becomes the member of his mother’s class.

(E} When any male member becomes widower or divorcee, then he again belongs
to the group in which he was born.

(F) Nobody can marry more than one person according to social laws.

Any class B female can have

(P} Grandfather born in class A

(@) Grandmother born in class A

() Only (P) can be true (b} Only (@) can be true

{e) Either (P) or (Q) can be true {ef) Neither (P) and (Q) can be true

(e} Both (P) and (Q) can be true

One boy, who was born in class B (boy and his wife both can have married and

unmarried brothers),

{a) can have his daughter in class B (b} can have a son-in-law born in class A

{c} can have his uncle from any class (d} can have a divorced son in class B

(e} can have a daughter-in-law born in class A.

Which of the following marriages is not permiszible according to the social laws 7

{a) Any girl of clase B marries his mother’s brother.

(k) Any widower marries his wife's sister.

ic) Any boy of class B marries his father’s sister.

(d} Any widower born in class A marries his brother's widow.

le}) Any widow marries the former divorced husband of her daughter.

ANSWERS

L. (a}: Grandmother is one female, mother is another, wives of four sons are the four females

and two daughters of all four sons are eight females.
S0, in all there are 1 +1 +4 + 8= 14 females.

2. (c): Shalini is Meena's step-daughter means Shalini is the daughter of the other wife of

Rohan. So, Shalini is the danghter of Lakshmi or Lakshmi is the mother of Shalini,

. th): Anil is the brother of Daya and Daya is the son of Chandra. 8o, Anil is the son of

Chandra. Now, Bimal ia the father of Chandra.
Bo, Anil is the grandson of Bimal.

4. (b) : Clearly, the only daughter of Monika's father is Monika herself So, Rahul's mother

is Monika. Thus, Monika's hushand is the father of Rahul.

B.ich: M is the brother of N and B is the brother of N.

8o, M is the brother of B.

6. () : Deepak iz the son of Ravi, who is the son of Rekha. Thus, Deepak is the son of Rekha
T id): Aut.heawterufBandB is the daughter of C. So, A is the daughter of C. Also, D

is the father of C. So, A is the granddaughter of D,



234

8. {a):
B, {d) :
10, () :

1L, la):

12. (a) :

13. (a) :
14. ic) :

15. (e} :

16. ic) :

17. {a) -
18. () :

18, {d) :

20, {d) :

21. i) .

22. (o)

23. () :

24, (e} :

25. ib) :

28. (e) :

27. wh .

28, (¢} :

Reasoning

Clearly, D) is the brother of E and E is the daughter of B. S0, D is the son of B.
Alsa, A i the brother of B. So, A is the uncle of D.

T is the brother of 8, who is the daughter of R. So, T and 8 are the children of R.
Now, Q is the brother of R. S0, T and 8 are the cousins of Q.

C is B's daughter and D is B's son. So, I} is the brother of C. E is a male married
1o €. Sa, E is the hushand of C, whose brother is . So, D is the brotherin-law of E.
A is father of C and C is sister of D. So, A is father of D. But D) is son of B. So, B
is the mother of D and wife of A. Also, E is the brother of A. So, B iz the sister-in-law
of E.

S is daughter of P and sister of T. S0, T is daughter of P. Now, the sister of P is
the daughter of M. This means that P is also the daughter of M. Clearly, T is the
granddaughter of M. So, M ia the Grandfather or Grandmother of T.

A is the son of B and D is the son of the sister of B. So, A is the cousin of D.

E is the daughter of C and D is the son of C. So, F, who is the maternal uncle of
[}, is alzo the maternal uncle of E. Thus, E ia the niece of F.

Clearly, F is the maternal uncle of D meana F is the brother of [Vs mother ie, F
ig the brother of C. C is the sister of B. So, F is the brother of B who is A's mother.
Thus, F is the maternal uncle of A. So, A and D are the nephews of F ie, F has
two mephews.

[ iz the son of B, B is the brother of C and A is the father of C. This means that
B is the father of D and A is the father of B. So, A is the grandfather of D. Now,
F is the spouse of A 80, F is the pnndmﬂlh.ar of D.

As explained above, B is the son of A and F is the spouse of A. So, B is the son of F.

C ia A's father's nephew means C is the son of A's father's brother ie, C iz the
cousin of A. D is alzo A's cousin. S0, D must be real brother or sister of C. But D
is not brother of C. So, D) must be sister of C.

@ and R are sisters. 8o, T is the mother of R means T is the mother of Q and H. 8
ig the son of T means 3 is the brother of Q. Thus, P is the gon of @ means 5 is the
maternal uncle of P.

A i the brother of B and B is the brother of C. Sa, C may be the brother or sister
of A

A is the father of X and Y is the sister of X. S0, Y is the daughter of A

Jagat is the brother of Priya and Priya is the daughter of Sachin. So, Jagat is the
son of Sachin. Now, Rajan is the brother of Sachin. Thus, Rajan is the uncle of Jagat.
Neelam's father is Deepak. Deepika’s mother ia Rekha. Deepak is the third child of
Ramlal. So, Deepak’s younger sister Rekha is the daughter of Ramlal. So, Ramlal is
father of Rekha and grandfather of her daughter Deepika.

P, Q. R are children of same parents. So, 8 who is H's mother and T, who is P's
father will be mother and father of all three. However, it is not mentioned whether
Q is male or female. So, (e) cannot be definitely true,

A 18 the brother of F who is the daughter of D. 8o, A is the son of D. P is the brother
of I}. So, P is the uncle of A,

K is the brother of N and X. So, Y, who is the mother of N and Z, who is the father
of K, will be mother and father of all three. However, it is not mentioned whether
M is male or female.

5o, the statement (¢} cannot be definitely true.

Boy's maternal uncle will be brother of boy's mother. Maternal uncle of mother's
brother and maternal uncle of lady are brother means lady is sister of mother's
brother ie., lady is the mother of the boy. So, the boy is woman's son.

C is the wife of B and D is mother of B. S0, C is the grandmother of A. So, C is the
mother of A
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20, (d) :
30, del

1. (b :

Clearly, the sex of A cannot be determined.

The sex of A is not Enown. So, neither (a) nor (b) is definitely true. Clearly, [} is the
grandmother of A and F.

 ia wife of B. 8o, one couple ia BC. Now, D i= grandmother of & B is the son of D
and his wife C is che mother of F. So, D is also the grandmother of F. But F is the
gpranddaughter of E. So, E is the grandfather of F and the husband of D. Thus, DE
is another couple.

guestions 32 to 37

32. {d) :

B3, id) -
ad. ez
6. 1d)
36. [d) :
7. le)

B is the son of © bot C is not the mother of B means C is the father of B. A is
married o C means A is the mother of B, F.is brother of B means F ie son of A
and C. D is daughter of A means [} is daughter of A and C.

A is the mother and henee female. B is the son and hence male, C is the husband
and hence male, ) is the daughter and hence female, E iz the brother and hence
male, F is the son and hence male. So, there are four males.

Clearly, A is the mother of B.

A has son B, son F and daoghter D ie. three children.

: Clearly, from the data available, the wife of E cannot be determined.

Clearly, the females are only the mother A and the daughter [
E is the brother of C who is the father of D. So, E 1= the uncle of D.

Questions 38 to 42

38, d}
38. (e} :
4. (h)
41. {c) :
42, () :
44 la) :

E is the daughter of A and F is the mother of E. S0, A is the father of E and hence
the husband of F. Now, D is the daughter of F. 3¢, [} and E are the daughters of
Aand F.

Also, A iz the son of C. Now, only B remains. Thus, B and C arc the parents of A
The sex of B and C cannot be determined.

Clearly, A and F are the parents of the children D and E.

Clearly, B and C are the parents of the couple,

Clearly, the females in the family are : either B or C, F, D and E.

Clearly, D and E are sisters.

E iz married to A or . But B iz married to D, Thus, E is married to A, Thus, A,
B, D, E are the four adults and C, F, G are the three children in the family.

B and D have a child G,

A and E have two children. They are C and F.

Now, only F and G are girls. So, C 15 a boy. Thus, C 15 A's or E's son,

Questions 44 to 48

44, la) :
45. (b :
48, (b)
47, lc) :

48, (v} :
48, (b

A is n male and married to B. S0, A is the hosband and B is the wife. © is the
brother of A. D) is the son of C. E, who is the sister of D will be the daughter of C.
B is the daughter-in-law of F whore husband has died means F is the mother of A
Clearly, F is the mother of A.

Clearly, E is the daughter of C.

C is the brother of A who is the husband of B. S0, C 15 the brother-in-law of B.

A is 5 male. B, the wife, is female. C, the brother, is male. D, the son, is male. E,
the sister, is female. F, the mother, is a female. So, there are three males,

F is the mother of A and C is the brother of A S0, F iz the mother of O

: Bhobha is the niece of Ashish means Ashish is the uncle of Shobha. Now, Priya is

Ashish's mother, So, Priva is the grandmother of Shobha. Hari is Priva's father, So,
Shobha is the great granddaughter of Hari,
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Questions 50 to 54

I} i father of A and grandfather of F. So, A is father of F. Thua, D and A are the
two fathers. C is the sister of F. So, C is the daughter of A. Since there is only one
mother, it iz evident that E ia the wife of A and hence the mother of C and F. So,
B is brother of A. There are three brothers. 8o, F is the-brother of C.

50. (d} : Clearly, E is the mother.

51. (e} : Clearly, A ia E's husband.

52 {d) : A, the father, is male. B, the brother, is male. C, the sister, is female. D, the grand-
father, is male. E, the mother, is female. F, the brother, is male. 80, there are four
males.

53. (¢} : Clearly, F is the son of A.

B4. ia) : Clearly. B and A are brothers. F is the brother of C. S0, three brothers are A, B, F.

Questions 55 to 66
€} ia the son of K but R is not the mother. So, R ia the father of Q. P is married to
B 5o, P iz the wife of B and the mother of Q. X is the dasghter of P and hence of
R and so she is the sister of Q. Y is the brother of R and Z is the brother of P.

55. (b) : R is the husband of P and Z is the brother of P. So, 2 is the brother-in-law of R.

B8, (al: R is the father of Q.

87. (b} ; Clearly, @ is the son of P and X is the daughter of P. S0, P has two children.

G68. (b} : There are two females only — mother P and daughter X.

59. (c) : X ia the sister of @ who is a male. So, @ is brother of X

B80. (d) : Clearly, Y is brother of R who is a male. So, ¥ and R are a pair of brothers.

Questions 81 to 85

61 () :

8L (b}
3. (b}
B4 (2}
63. (a)

C is the daughter-in-law of A who is the grandmother of F means C is the mother

of F. But F is the son of B. S0, B is C's husband. But C, the lawyer, is married to

the Doctor. S0, B is the Doctor, F, the Accountant, will be the son of B and C. E is

the unmarried Engineer. So, the other married couple ¢an be that of grandmother

of Fie A and D. But D, the Salesman, is married to the Lady Teacher. So, D, the

?'aleﬂhman. is the grandfather of F, father of B and the husband of A, the Lady
‘eacher,

Clearly, from the given data, the relation between E and F cannot be determined.

: Clearly, B is the Doctor.

: A is the Lady Teacher.

¢ The two couples are C and B; and [} and A which is none among the choices.

: D is the grandfather of F,

Questions 68 to T

BE. (c) :
87. (a):
B8, (b} :
68, (h):
T0. {a} :
T1. (bh:

Q. the Doctor, ia the father of T. &, the Housewife, ia the grandmother of T and
hence the mother of Q. Since there are only two married couples one being that of
Q. the grandfather of R fe. U must be married to 5. Thus, R and T will be both
children of @ and these must be the students. So, P, who remains, shall be the wife
of @ and she alone can be the nurss. Thus, U must be the contractor.

The hushand of P will be Q.

Clearly, R and T are children of same parents. 5o, R will be the sister of T.

P ia the nurse,

The two married couples are Q, P and T, 8.

Clearly, for definite the males are @, the father and U, the grandfather.

The mother of class B female belongs to class B. So, her father was born in class A,
Thus, her father's mother belonged to class A, and father's father was born in class
B. Bo, the Grandfather belongs to clase B and Grandmother belongs to class &
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72. (c) + The boy born in elass B will marry a girl of class A. So, the daughter will belong to
class A Thus, (a) is false. '
Since the boy's daughter will belong to class A, she would marry a boy of class B
and 8o the son-in-law would be from class B. 8o, (B) is false.
The boy, born in class B, will have mother born in class B and father born in class
A. S0, his uncle (i.e. mother’s brother or father's brother) can be from class A or B.
So, (e} 18 true,

73, (o) : A girl of class B will have mother born in class B and so0 the mother's brother will
also helong to elass B. Since people of any class cannol marry the members of their
own class, so the condition in (o) is not permissible.

TYPE 3 : CODED RELATIONS

In such questions, the relationships are represented by certain codes or symbols
such as +, -, x, =, #, [ ete. Then relationships between certain persons, given in
the form of these codes, are to be analysed.

Ex. 1. If A+ B means A iz the sister of B: A - B means A is the brother of B; A= B
means A is the daughter of B, which of the following shows the relation that
E iz the maternal uncle of I} ?
(@) D+FxE BYD-FxE ) DxF+E
d)DxF-E (e} None of these,

Sol. Clearly, E is the maternal uncle of D means D is the daughter of the gister
(say Flof Eie. DxF+E.
Hence, the answer is (c).

Ex. 2. Read the following information carefully and answer the guestions
that follow :
A+ B means A is the son of B; A - B means A is the wife of B; A x B means
A is the brother of B; A+ B means A is the mother of B and A = B means A
is the sister of B.

1. What does P+ R - §Q mean ?

{a) Q is the father of P. th) @ 15 the son of P
(c) @ is the uncle of P, id} @ is the brother of P,
2. What does P~ R = § mean 7
ta) P iz the brother of R. (b} P is the father of @
{c) P is the uncle of Q. {d) P is the nephew of Q.
3. What does P= R + @ mean ?
(@) P is the aunt of Q. (b)) P iz the daughter of Q.
"7 {e) P is the niece of Q. (d} P is the sister of Q.
4. What does P= R + @ mean 7
{a} P'is the aunt of Q. th) P is the sister of .
ic) § is the niece of P. (d) @ 1a the daughter of P.
Solution :

I. Clearly, P+ R - Q means I is the son of R who is the wife of Q e @ is the father of P.

Hence, the answer is {a),

2. P=R+Q means P is the brother of R who is the mother of Q i.e. P is the uncle of Q.
So, the answer iz (c).
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P=R + @ means P is the sister of R who is the son of @ Le. P is the daughter of Q.

8o, the answer is (h).
P=R + @ means P iz the sister of R who is the mother of Q ie. P is the aunt of Q.

So, the answer 18 (a),

1.

| EXERCISE 5C |

P + @ means P iz the brother of @; P - Q means P is the mother of @ and P = Q
means P is the gister of €. Which of the following means M is the moternal uncle
of B ?

a) M+K+R by M-R+K ey M+K-R

) M+K=R (e) None of these

If A+B means A is the brother of B; A+ B means A is the father of B and
A = B means A is the sister of B, which of the following means M is the uncle
of P ? (8.B.1.P.O, 1997)
fa) N=P+ M (B M+8+R+P eYM+NxP
(dIM+K-T=xP (e} None of these.

Directions (Questions 3 to 5) : Read the following information and answer

the questions giver below it :

A+ B means A is the daughter of B; A =B means A is the son of B and A-B

means A is the wife of B.

3.

ﬂc

If Px@-8, which of the following is true ?

{a) 8 is wife of @ (b} 8 is father of P (e) P is daughter of Q
id) Q is father of P {e) None of these

If T-8=B-M, which of the following is not true 7

iz} B iz mother of 8 (b} M is husband of B (c) T is wife of 8

id) 8 is daughter of B {e) 8 is son of B
HZ=«T-8S«U+P, what is U to Z.

{a) Mother (b} Grandmother (c) Father

{d) Can't be determined {e) None of these.

P =« Q means P is the sister of @; P + Q means P is the father of @, P - @ means
P iz the mother of §. Which of the following means S is the aunt of T ?

fa) T=M+ 8 (b} S+T=xM ) 8xM+T

d) SxM+R-T () None of these (B.S.R.B. 1987)
If A+B means A is the son of B; A— B means A is the husband of B: AxB
means A ig the sister of B, then which of the following shows the relation @ is
the maternal uncle of P 7

fa) P+B-R=Q (b)) P-B+Rx@Q c}P+BxR-Q !
idiP«xB-R+@Q (e) None of these

If A+ B means A is the mother of 8; A+ B means A is the brother of B, Ax B
means A is the son of B and A - B means A is the daughter of B, which of the
following means C is the niece of D ?

{g) D-C B D=P-C edC-P+D (d) P+D+C (e D-P=+C
IfXoY means X is the wife of ¥; X*Y means X is the son of Y and X O Y
means X is the sister of ¥, which of the following would mean that A is the
daughter of B 7
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@l A*CODocB bAsC=DOB )AOCoD*B
idi AOC*DoB () None of these

Directions (Questions 10 to 12) : Study the information given below and
answer the questions that follow :

A + B means A is the daughter of B, A- D means A is the husband of B; Ax B
means A ig the brother of B.

10. If P+ @ - R, which of the following is true ?

ia) R is the mother of P (h) R is the sister-in-law of P

ic) R is the aunt of P (d) R is the mother-in-law of P
11. If P = Q@ + R, which of the following is true ?

{a) P is the brother of R ib) P is the uncle of R

ic) P is the son of R {d) P is the father of R
12. If P + Q = R, which of the following is true 7

{a) P iz the niece of R (b) P iz the daughter of R

(c) P is the cousin of R {d) P is the daughter-in-law of R

13. If (A) P+ Q means P is the brother of §:
(B} P = Q means P is the father of @;
() P-@Q means P is the sister of @,
which of the following represents S is the niece of T ?
@) T«M+85-K BYK-8=M+T ) T+M=x5-K
) T=8+M-K (e} None of these {Bank P.O. 1995)
14. To find out the answer to the above question, which of the statements can be
dispanaed with 7
{a) A only by Bonly (¢} Conly (d) B or Conly (e) All are necessary
15. If P+ @ means P is the husband of @; P+ Q means P is the sister of @ and
P = @ means P is the son of §, which of the following shows A is the daughier

of B ¢ {Bank P.O. 1996)
) CxB+A BIB+C=A ) DxB+C+ A
id)A+D=B {e} None of these

18. X - Z means X is the mother of Z; X = Z means X is the father of Z and X+ Z
means X is the daughter of Z. Now, if M = N = T + @, than which of the following

ig not true 7 (B.5.R.B. 1998)
{a)} T is N's daughter (B) N is wife of Q (¢} M is mother-in-law of Q
(d) Q is wife of N (e} T is granddaughter of M

Directions (Questions 17 to 24) : Read the following information carefully
and answer the questions given below it :

A +B means A is the father of B; A-B means A is the wife of B; A x B means
A is the brother of B; A+ B means A is the daughter of B.
17. If P+ R + 8 + Q, which of the following is true ?

(a) P iz the daughter of § () Q is the aunt of P

{c) P is the aunt of Q (d) P is the mother of Q
18. If P-R + @, which of the following statements is true ?

{a) P is the mother of Q (5) Q is the daughter of P

(e P is the aunt of Q (d) P is the sister of Q
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19, If Px R+ Q, which of the following statements is true 7

{a) P is the uncle of Q (b} P is the father of Q

{c) P is the brother of Q {d) P is the son of Q
20. If P x R - Q, which of the following is true ?

{a) P is the brother-in-law of Q (k) P is the brother of @

(c) P is the uncle of @ {d} P is the father of Q
21. If P+ R + @, which of the following is true ? :

(a) P is the brother § {b) P is the son of Q

{c) P iz the hushand of Q {d} P is the father of Q
22. If P+ R + @, which of the following is true 7

‘{a) P is the father of @ (b) P is the brother of Q@

{e) P is the mother of Q id) P is the sister of Q
23. If Px R + Q, which of the following is true ?

{a) P is the uncle of Q (b) P is the father of

() P is the brother-in-law of Q (d) P is the grandfather of Q
24. If P - R = G, which of the following is true ?

{a) P iz the sister of Q (b) Q is the husband of P

ic) P is the sister-in-law of Q (d) Q is the son of P~

ANSWERS

1.{c): M is the maternal uncle of R means M is the brother of the mother {say K) of R i.e.

M+K-R

2. id): M iz the uncle of P means M is the brother of the father (say K) of the sister {say

TiofPie M+ K+T=P

8. (b): P«Q =5 means P is the son of @ who is the wife of S i.e. P iz the son of 8 or 8 is

the father of P.

4.0d): T-8=B~-M meana-T is the wife of § who is the son of B who is the wife of M i

T iz the wife of the son of M (father) i.e. T is the daughter-in-law of M. But as this
is not given in the choice, so the fact in (d) derived from S « B is true.

B.ib): ZxT-8=1U means Z ia the son of T who is the wife of 8 who is the son of U ie

Z is the son of 8 who is the son of U ie. Z is the grandson of U or U iz the grand-
mother or grandfather of Z, From the choice, (b) is true, |

B.(ch: 8 is the aunt of T means 8 is the sister of the father (say M) of T ie. S=M+T.
7.la): Q iz the maternal uncle of P means P is the son o the sister of §Q ie. P ia the son

of the husband (say B) of the sister (say R) of Q Le. (P+B-R=x Q)

8.{c): Cis the niece of D means C is the daughter of the brother (say P)of D ie. C-P+ D.
8. (d): A is the daughter of B means A is the sister of the son (say C) of the wife {(say-D}

of Bie AQD C+«DoB.

0. fa): P+ Q- R means P is the daughter of @ who is the hushand of R ie. R is P's mother.
11.{e): P= @+ R means P is the brother of Q who is the daughter of R ie. P ias the

son of R.

12 {e}: P+ Q=R means P is the daughter of @ who is the brother of R i.c P is the niece
of R.

13.(c): § is the niece of T means T is the brother of the father (say M) of S ie. T+ M x S.
14. (¢} : Clearly, statement (c) can be dispensed with while answering the above question.
15. {d) : A is the daughter of B means A is the sister of the son (say D) of B fe. A +D = B.
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16, (d) :

17. (e :

1B.1(a):
19. (d) :

20. {a) :
21. (e} :
22. d):
23. (a):

24. (c) :

M-N=T+Qmeans M is the mother of N who is the father of T who is the daughter
of Q i.e. M is the grandmother of the davghter of @ Le. M is the mother of Q. Since
this is not given in the choices, so the fact in (d) derived from N « T + Q is true.
P+R+5+Q means P is the daughter of R who is the father of 5 who is the father
of @ i.e. P is the sister of the father (S) of @ i.e. P is the aunt of Q.

P-R+Q means P is the wife of R who is the father of Q i.e. P is the mother of Q.
P«R+Q means P is the brother of R who is the daughter of Q i.e. P is the son
of Q.

P xR - Q means P is the brother of R who is the wife of @ i.e. P is the brother-in-law
nI'Q. [

P+R +Q means P is the father of R who is the daughter of § i.e. P is the father
of R and Q is the mother of R ie. P is the husband of Q.

P+ R +Q means P is the daughter of B who is the father of @ i.e. P is the sister of
Q
P=R+Q means P is the brother of R who is the father of @ ie. P is the uncle
of Q.

P-R = Q means P is the wife of B who is the brother of @ i.e. P is the sister-in-law
of Q.




6. PUZZLE TEST

This section comprises of questions put in the form of puzzles involving certain
number of items, be it persons or things, The candidate iz required to analyse the
given information, condense it in a suitable form and answer the questions asked.

The questions on Puzzle Test may be of any of the following types :
I. Classification Type Questions
II. Seating/Placing Arrangements

IIl. Comparison Type Questions

IV. Sequential order of things
V. Selection based on given conditions

V1. Questions involving family members — their rel‘htinnship, their professions,
their preferences etc.

VII. Jumbled up Problems

TYPE 1: CLASSIFICATION TYPE QUESTIONS

This type consists of questions in which certain items belonging to different groups
or possessing different qualities are given along with some clues with the help of
which the candidate is required to group and analyse the given items and answer
the questions accordingly.

Ex. 1. Read the following information carefully and answer the questions that follow :

There are six cities A, B, C, D, E and F.

A i not a hill station.

B and E are not historical places.

D i3 not an industrial city.

A and D are not historical cities.

A and B are not alike.

1. Which two cities are industrial centres 7

a)Aand B (B)E and F c)Cand D (@ Band F (e} Aand D
2. Which two cities are historical places ?
jeyAand C (M) Band F f)Cand F (dyBand E (e) A and D
3. Which two cities are hill stations ?
a)Aand B (5 C and A c)Band D (d)A and F (¢} None of these
4. Which city is a hill station and an industrial centre but not a historical place ?
{a) E by F c) A (dy B e) C
5. Which two cities are neither historical places nor industrial centres ?
faAand B (k) D and E )Fand C (d)B and D () None of these
242
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Solution : The given information can be analysed as follows :

-

A B |, C© D E F
| Historical x « 1 : x v
| _ln&ual.rial '-'_ ® ¥ x v 1.'
" Hill Stations | ® . - r__i 1 __'4'__ v v |

Sinee A and B are not alike and because A is industrial, B eannot be industrial but only

a hill station. So, we put a croas for B across Industrial.

1.
2.
3.
4.

5.

Clearly, A, C, E and F are Industrial Centres. So, the answer is (b},
Clearly, (* and F are Historical places. So, the answer is {e).
Cleariy, B, C, D, E and F are Hill stations. So, the answer is (¢).

E alone is a Hill station and an Industrial centre but not a Historical place. So, the
answer is (a)

B and [} are neither Historical places nor Industrial centres. So, the answer is {d).

Ex. 2. Read the following information carefully and answer the questions that follow :

21‘

4.

(i} Five friends P, @, R, 8 and T travelled to five different cities of Chennai,
Caleutta, Delhi, Bangalore and Hyderabad by five different modes of transport
of Bus, Train, Aeroplane, Car and Boat from Mumbai.

{ii)} The person who travelled to Delhi did not travel by boat.

(iif) R went to Bangalore by car and §Q went to Caleutta by aeroplane.

(iv) 3 travelled by boat whereas T travelled by train.
{r) Mumbai is not connected by bus to Delhi and Chennai. (Bank P.0. 1995)

Which of the following combinations of person and mode is not correct ?
{a) P — Bus (b} @ — Aeroplane ic} R — Car

id) 8 — Boat {e) T — Aeroplane

Which of the following combinations ig true for S 7

{a) Delhi — Bus (b} Chennai — Bus {c} Chennai — Boat

{d) Data inadequate {e) None of these

Which of the following combinations of place and mode is not correct ?

{a) Delhi — Bus {b) Calcutta — Aeroplane (¢} Bangalore — Car
{d} Chennai — Boat  (e) Hyderabad — Bus

The person travelling to Delhi went by which of the following modes ?

{a) Bus (b) Train {c) Aeroplane id) Car {e) Boat
Who among the following travelled to Delhi ?
{a) R ib) 8 e} T {d) Data inadequate (e) None of these

Solution : The given information can be analysed as follows :

iA) Mode of Transport : R travels by Car, Q by Aeroplane, § by Boat and T by Train.
Now, only P remains. So, P travels by Bus.

{B) Place of Travel : B goes to Bangalore, § to Calcutta. Now, bus transport is not
available for Delhi of Chennai. So, P who travels by Bus goes to Hyderabad. S travels
by boat and hence, by (i), did not go te Delhi. S0, 8 goes to Chennai. Now, onlv T
remaing. So, T goes to Delhi, A
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Place Mode
Hyderabad Bus
Calecutta Aeroplane
Bangalore Car
Chennai Boat
Delhi Train
Clearly, the incorrect combination is T — Aeroplane. So, the answer is {e).
Clearly, the correct combination for 8 is Chennai — Boat. So, the answer is (e).
Clearly, the incorrect combination is Delhi — Bus. So, the answer is (a).
Clearly, T travelled to Delhi by Train. So, the answer is (b).

Clearly, T travelled to Delhi. So, the answer is (c).

=D

peREe

EXERCISE 6A

Directions (Questions 1 to 5) : Read the following information and answer
the gquestions based on if : (Bank P.0. 1998)

In a school, there were five teachers. A and B were teaching Hindi and English.
C and B were teaching English and Geography. D and A were teaching Mathematics
and Hindi. E and B were teaching History and French.

1. Who among the teachers was teaching maximum number of subjects 7
(a) A b) B (e) C d) D e) E
2. Which of the following pairs was teaching both Geography and Hindi ?
ja) Aand B (h)BandC {e)Cand A (d)Dand B (e) None of these
3. More than two teachers were teaching which subject ?
{a) History  (b) Hindi  (c) French  (d) Geography (e) Mathematics
4. D, B and A were teaching which of the following subjects ? |
{a) English only (&) Hindi and English (c) Hindi only
(d) English and Geography (e) Mathematics and Hindi
5. Who among the teachers was teaching less than two subjects ?
(a) A ibt) B cy D {d) Data inadequate (e) There iz no such teacher
Directions (Questions 6 to 10) : Study the following information carefully
and answer the questions that follow : (M.B.A. 1987)
Madhu and Shobha are good in Dramatics and Computer Science.
Anjali and Madhu are good in Computer Science and Physics.
Anjali, Poonam' and Nisha are good in Physics and History,
Misha and Anjali are good in Physics and Mathematics,
Poonam and Shobha are good in History and Dramatics.
8. Who is good in Computer Science, History and Dramatics ? -

(a) Anjali {6} Madhu {c) Shobha id) Nisha
7. Who is good in Physics, ]?ramghtics and Computer Science 7
{a) Shobha (b} Poonam {c) Madhu {d). Anjali

B. Who is good in Physics, History and Dramatice ? !
(a) Poonam (b) Shobha (c) Madhu (d) Anjali



Puzzle Test 245
9. Who is good in History, Physics, Computer Science and Mathematics ?

(a) Poonam (b} Nisha ie) Madhu (d} Anjali

10. Who is good in Physics, History and Mathematics but not in Computer Science ?
(a) Madhu (6) Poonam ic) Nisha {cf} Anjali

11. Ravi is not wearing white and Ajay is not wearing blue. Ravi and Sohan
wear different colours. Sachin alone wears red. {Central Excise, 1992)
What is Sohan's colour, if all four of them are wearing different colours ?
() Red (b) Blue (e} White {d) Can't say

MEWEJSI:MMMMMM
the questions given below it :

{i) Kailash, Govind and Harinder are intelligent.
(ii} Kailash, Rajesh and Jitendra are hard-working.
(iii) Rajesh, Harinder and Jitendra are honest.
{(fv) Kailash, Govind and Jitendra are ambitions.
12. Which of the following persons is neither hard-working nor ambitious ?
{a) Kailash {b) Govind (¢} Harinder  (d) Rajesh (¢} None of these
13. Which of the following persons is neither honest nor hard-working but is ambitions 7,

(a) Kailash (b) Govind {c} Rajesh (d) Harinder {e) None of these
m[@ml!hjﬂ:MMMiMmﬂum\
the guestions that follow : (Railways, 1993)

Four youngmen Raj, Prem, Ved and Ashok are friendly with four girls Sushma,
Kusum, Vimla and Poonam. SBushma and Vimla are friends. Ved's girl friend does
not fike Sushma and Vimla, Kusum does not care for Ved. Prem's girl friend is
friendly with Sushma. Sushma does not like Raj.

14. Who is Raj's girl friend ?

{a) Sushma (b} Kusum {c) Vimla {d) Poonam -
15. With whom iz Sushma friendly ?

(a) Raj b} Prem (c) Ved i) Ashok
18. Who iz Poonam’s boy friend 7

{a) Ashok iB) Ved fe) Prem {d) Raj
17. Who does not like Sushma and Vimla ?

{a} Poonam (b} Raj tc) Ashok id} Ved

18. In a ericket season, India defeated Australia twice, West Indies defeated India
twice, Australia defeated West Indies twice, India defeated New Zealand twice
and West Indies defeated New Zealand twice. Which country.has lost most
number of times 7
{a} India {b) Australia {c) New Zealand (d) West Indies

(I. Tax & Central Excise, 1982)

Directions (Questions 19 to 21) : Read the follmping information and arswer
the questions given below it : ’

Six students A, B, C, D, E and F are sitting in the field. A and B are from Nehru
House while the rest belong to Gandhi House. D and F are tall while the others are
short. A, C and D are wearing glasses while *!v others are not.

19. Which two students, who are not weari:; rinsses are shart ?
fe)Aand F (M CandE (c)Bari? (d)Eand F (e) None of these
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20. Which short ntlzl.d-ent of Gandhi House i3 not wearing glasses 7

(a) F (8} E (e} B dy A {e) Data inadequate
21. Which tall student of Gandhi House is not wearing glasses ?
{al B by C i) E idy F {e) None of these

22. Six students A, B, C, D, E and F are sitting in the field. A and B are from
Delhi while the rest are from Bangalore. D and F are tall while others are short.
A, C and D are girls while others are boys. Which is the tall girl from Bangalore 7
{a) C b)) D e} E id) F

(L. Tax & Central Excise, 1996)

23. D'n a shelf are placed six volumes side-by-side labelled A, B, C, D, E and F.

1B, C, E, F have green covers while others have yellow covers. A, D, B are new

volumes while the rest are old volumes. A, C, B are law reports while the rest
are medical extracts. Which two volumes are old medical extracts and have

grean covers 7 . {Assistant Grade, 1996)

a) B, C i C D c) C, E id E, F

Directions (Questions 24 to 28) : Read the following information carefully
/'ﬁ.rid answer the guestions given below it ;

There are six*persons A, B, C, D, E and F in a school. Each of the teachers
teaches two subjects, one compulsory subject and the other optional subject. D's
optional subject was History while three others have it as compulsory subject. E and
F have Physics as one of their subjects. F's compulsory subject is Mathematics which
‘is an optional svbject of both C and E. History and English are A's subjects but in
terms of compulsory and optional subjects, they are just reverse of those of Vs,
Chemistry is an optional subject of only one of them. The only female teacher in the
school has English as her compulsory subject.

24. What iz C's compulsory subject ?

ie) History (b) Physics  (¢) Chemistry  (d) English (e) Mathematics
25, Who is a female member in the group ?

fa) A BB, . e} C d) D (e) E
28. Which of the following has same compulsory and optional subjects as those of F's ?
(e} D (b) B ey A d) C (e} None of these

27. Disregarding which is the compulsory and which iz the optional subject, who
has the same two subject combination as'F ?
(a) A (b) B el E id) D (e) None of these
28. Which of the following groups has History as the compulsory subject ?
m} A, C, D B C,D C D (dl A, B.C (e} A D
Directions (Questions 29 fo 32) : Read the following information carefully
and answer the gquestions that follow : (Bank P.0. 1996)
{i) Jayant, Kamal, Namita, Asha and Tanmay are five members of a family.
{iil They have their birth dates from January to May, each meml:ner in one of
these months.
(itt) Each one likes one particular item for his'her birthday out of Bengali
Sweets, Chocolates, Pastries, Ice Cream and Dry Fruits..
(i) The one who likes Pastries is born in the month which ia exactly middle
in the months given.
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(v} Asha does not like Ice cream but brings Chocolates for Jayant in February.
{ri) Tanmay who is fond of Bengali swests is born in the next month immediataly
after Namita.
(vii) MNamita does not like Dry fruits or Ice cream.
29. What is the choice of Asha ?

{a) Pastries () Dry fruits ic) Bengali sweets
{d) Cannot be determined () Mone of these

30. Which combination of month and item is true for Jayant T
(a) March — Pastries {h) February — Pastries (¢} February — fee cream

{d) Cannot be determined {e) None of these
31. What is the choice of Kamal ?

(a) Iee cream () Bengali sweets () Dry fruits
i) Cannot be determined (2) Mone of these
32. In which month was Kamal born ?
{a) January (b) May {c) January or May
{d) Data inadequate (e} Mone of these
Directions (Questions 33 to 37) : Read the following information carefully
and answer the questions that follow ; (8. B.ILP.O. 1997T)

iy P.q R, S Tand U are six students procuring their Master's degree in six

different subjects — English, History, Philosephy, Physics, Statistics and
Mathematics.

{if) Two of them stay in hostel, two stay as paying guest (PG) and the remaining
two stay at their home.

(iii} R does not stay as PG and studies Philosophy.

{iv) The students studying Statistics and History do not stay as PG.

(v} T studies Mathematics and 8 studies Physics.

{vi) U and S stay in hostel. T stays as PG and Q stays at home.

33. Who studies English 7

(a) R by 5 ey T dy U (e) None of these
34. Which of the following combinations of subject and place of stay is not correct 7
{a) English — Hostel () Mathematics — PG ic} Philosophy — Home

() Physics — Hostel (e} None of these
35. Which of the following pairg of students stay one each at hostel and at home ?

iz} QR ib) SR e} US (d) Data inadeguate (e} None of these
36. Which subject does § study ?
{z) History {b) Statistics {r) History or Statistics

{d) Data inadequate . le) Mone of these
37. Which of the following pairs of students stay at home ?

{a) PQ ib) QR {z) RS (d) ST (2} None of these
Directions (Questions 38 to 42) : Study the following information and
answer the questions given below it : (Btenographer's Exam, 1884)

Hohit, Kunal, Ashish and John are students of a school. Three of them stay far
frém the school and one near it. Two study in class IV, one in class V and one in
clasa V1. They study Hindi, Mathematics, Social Science and Science. One is good
at all the four subjects while another is weak in all of these. Rohit stays far from
the scheol and is good at Mathematics only while Kunal iz weak in Mathematics
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only and stays close to the school. Neither of these two nor Ashish studies in class
V1. One who is good at all the subjects studies in class V.

38. Name the boy who iz good at all the subjects,

{z) Rohit {b) Kunal (e) Ashish {d) John
39. Name the boy who is weak in all the subjects.

(a} Rohit (b} Kunal (e} Ashish {d) John
40, Which two boys are good at Hindi 7

(z) Rohit and Kunal (6} Kunal and Ashish

(e} Ashish and John {d) John and Rohit
41. Which two boys are good at Mathematics 7

{a) Rohit and Ashish {b) Kunal and Ashish

(c} John and Ashish (d) Rohit and John

42, Other than Rohit and the boy good at all the subjects, who else stays far from
the school 7

{a) Rohit (6) Kunal (c) Ashish {d) John
Directions (Questions 43 to 45) : Study the given information carefully
and answer the questions that follow : {Bank P.O. 1897)

{i} There are six friends A, B, C, D, E and F.

(ii} Each one is proficient in one of the games, namely Badminton, ‘u’ulle:rball
Cricket, Hockey, Tennis and Polo,

(i} Each owns a different coloured car, namely yellow, green, black, white, blue
I and red.
(iv) D plays Polo and owns a yellow coloured car.

(v} C does not play either Tennis or Hockey and owns neither blue nor yellow
coloured car.

{vi} E owns a white car and plays Badminton.
(vii} B does not play Tennis, he owns a red coloured car.
{viit} A plays Cricket and owns a black car.
43. Who plays Volleyball ?

3 b C e} F

(d} Data inadequate (e} Mone of these

44. Which coloured car F owns 7
{a) Green (b) Blue () Either Green or Blue
(d) Data inadequate {e) None of these

45. Which of the following combinations of colour of car and game played iz not
correct 7
{a) Yellow — Polo {b) Green — Tennis (c) Black — Cricket
id) Red — Hockey {e) None of these

48, In a group of six women, there are four dancers, four vocal musicians, one
actress and three violinists. Girija and Vanaja are among the violinists while
Jalaja and Shailja do not know how to play on the viclin. Shailja and Tanuja are
among the dancers. Jalaja, Vanaja, Shailja and Tanuja are all vocal musicians
and two of them are also violinists. If Pooja is an actress, who among the fol-
lowing is both a dancer and a viclinist ? T (LAS. 1993)

(a) Jalaja (b} Shailja {c) Tanuja (d) Pooja
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ANSWERS '

Questions 1 to 6
r[‘Im given information may be analysed as under :

English Hindi | Mathematica | Geography | History French |
A I 4 i v |
B i A v ¥ ¥ |
c v | L)
D | ¥ 1
| E | ¥ v

1. (b) : B teaches maximum number of subjects ie. 5.
2. (¢} : Only B teaches both Hindi and Geography.
3. (b) : Three teachers were teaching Hindi — A, B and D.
4.0c): D, B and A were teaching Hindi.
B.(e): Mone of the teachers was teaching less than two subjects.
Questions 6 to 10
The given information can be analysed as under :

Dramatics | Computer Sc. | Physies | History | Mathematics
Madhu | v v . /S
Shobha | | | o
- Anjali ] v i | i ]
Poonam o ! { ' Y
Nisha ; ], 1' ) | ¥ |

8. (¢) : Shobha is good in Computer Science, History and Dramatics.

7.0c) : Madhu is good in Physics, Dramatics and Computer Science.

8. in) : Poonam is good in Physics, History and Dramatics.

8. (d) : Anjali is g:md in History, Physics, Computer Science and Mathematics,

10. ic) : Nisha is gwd in Physics, History and Mathematics but not in Computer Science.
11. (d) : The fourth colour and some more information are required.

Questions 12-13
We may prepare a table as under :
| Intelligent Hard-working | Honest Ambitious
| Kailash v 4 . v
[ Govind v B
‘Harinder v v
Rajesh i I i
Jitendra | I y ) .l

12. {¢) : Harinder i# neither hard-working nor ambitious,
13, (b) : Govind is ambitious but neither honest nor hard-working.
Questions 14 to 17

Sushma and Vimla are friends and Prem's girl friend is friendly with Sushma, This means
that Prem's girl friend is Vimla.
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Ved's girl friend does not like Sushma and Vimla. So, she is either Kusum or Poonam.
But Kusum does not care for Ved. So, Ved's girl friend is Poonam.

Sushma does not like Raj. So, Raj's girl friend is Kusum.
Clearly, Ashok's girl friend is Bushma.
 14. (b)Y : Raj's girl friend is Kusum.
15. () : Sushma is friendly with Ashok.
16. (b) : Poonam’s boy friend is Ved.
17.{a} : Ved's girl friend i.e., Poonam does not like Sushma and Vimla.
18. {¢) : Australia was defeated twice by India.
India was defeated twice by West Indies.
West Indies was defeated twice by Australia
New Zealand was defeated twice by India and twice by Weast Indies ie 4 times in all.
Questions 19 to 21
We may prepare a table as under :

Nehru House | Gandhi House | Tall | Short | Glasses | No glasses
A TN ; 3 4
B \l' Y B
c 3 v I
D o v 3 ¥ |
E B v N
i ‘ v | W v
19.(c): B and E are short and not wearing glasses.
20. ib) - E belongs to Gandhi Houss, is short and does not wear glasses.
21. id) : F belongs to Gandhi House, is tall and i not wearing glasses.
22. (b) : F - Delhi | Bangalore | Tall Short Girls Boys
& | A i | v
B i | " v
| © B d Y | v
D ] ) ) )
E | ““_ = | .
F | ¥ ) v |
Clearly, D is the tall girl from Bangalore.
2. (d) : | Green | Yellow New Old Law Medical |
Cover | Cover Volume Volume Reports | Extracts
A ¥ ¥ ¥ |
B v 2 L v
C v Ay ¥
D A Y ) '
' E ¢ | | 3 i
| F W | — [ I v

Clearly, E and F are old volumes which have green covers and are medical extracts,
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